[This question paper contains 24 printed pages]
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Unique Paper Code :22411101

Name of the Course  : B.Com.(Hons.)

Name of the Paper 't Financial Accounting
Semester | : 1 |
Time : 3 Hours - Maximum Marks :‘5'5

*‘lnstructlons for Candidates :
‘Eﬂ?ﬁ & foma ﬁﬁsr -

(1) Write your Roll No on the top immediately
on receipt of this question paper.

qusq—qsr%waﬁwgﬁsﬁéwm
et e forg |

(ii) Answer may be ertten either in English
or in Hindji; but the same medium should
be used throughout the paper.

wq&#—wwweﬁﬁm%ﬁﬁﬁw_
9T H iy, AfeT ol o wsm & A §
B =Ifey |
(iii)Use of simple calculator is allowed.
I deegere T TART Y TS E |
) PTO.
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(iv) Show all workings clearly as part of the |

(v)

1. (a)

(b)

(c)

answer.
g WIT 9 I AThE 9 qAiEg |

Answer all questions. Including question
no 1 is compulsory.

g’ﬂmﬁ%wﬁﬁﬂmﬂﬁmlqﬁaﬁ
|

Explain the ‘Matching Principle’. When the
revenue is said to be recognised ? 4 }
= (Matching) R @& o= iﬁf\ﬁmﬁ
e T AT Il HT 8 7
What is meant by International F1nanC1al 3
Reporting Standards (IFRSS) ? Explam the ]
need for IFRSs. 5
TR i {-glcb A (IFRSs) & T}
e B ? IFRSs aﬁr STEALTHAT N I |
Calculate the value of closing inventory, Cost |
Of Goods Sold and Gross Profit according to ‘
FIFO and Weighted Average Method onj
March 31, 2017 : 6%

@H%aﬁqwaﬁmaﬁﬁq el B
Waﬁ'rﬁmwwqqsoaﬁot{qsoaﬁﬂ

4-'

- g 9X @IfSle e 31 A, 2017a?rmﬁﬁgj

Gﬁﬂﬁﬁwﬁqw%
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01 Stock in hand
07 Purchases
=

10 Sold

12 Sold

15 Purchased

ki25 Sold

30 Purchase returns

- Tl g
|

1201

500 units @ ¥ 10 per unit

500 FEIEat @ 10 T ufer =oprs
7,500 units @ T 12 per unit

7,500 A @ 12% SR T

- 6,000 units @ 15 per unit

6,000 FHEET @ 15 T SRy 3o
1,200 units@? 18 per unit
1,200 s1gel @ 18 T oy zoprs

5,000 units @ ¥ 13 per units ~ °

5,000 EFEA @ 13 T Ry s
3,500 units @ 23 per unit

| 35003331@@23?9%@3‘

500 units (out of goods
purchased on March 15)

500 FISAT (15 =7ef 3t @O 1y
qT 7 R)

3 - . PTO
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2. Youare required to prepare Trading and Profif
and Loss Account for the year ending March
31,2017 and Balance Sheet on that date frop
the following Trial Balance after making the{;?
necessary adjustments ;: 10

31 =, 2017a$rmm§qaé%%qw_,ﬁi
@mahaﬁ%ﬁwgaﬂ—w:ﬂa%@qﬁ
ddue ¥ g91q

~ Particulars Debit (3) Credit a

Stock (as on April 1, 2016) = 5,00,000
7 (1 o, 2016) | | ;

Purchases and Returns - 30,00,000 | 50,000
Sales and Sales Returns 60,000 42,00,000
Reft ot R 2 arRi
Cash in hand 3,50,000
Capital B 10,00,00(}

X a4
Al g

s S R e R

Sl (O O

4o o =
PR 2SN eer

----------
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3" ates and Taxes 45,000 ... Lo,
I rawings 1,60,000 - ...
Salaries 2,55,000  ..........
e

Insurance | 1 ,'05,000 ..........
rinting and Stationary 15,000 e
dvertisement 80,000 B amsansds

-

Car 500,000 ...

urniture 3,00,060 iyt £

l L4
{9

IDiscounts 40,000 60,000

&

5 P.T.O.
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Carriage Inward 35,000 ...
Wages 65,000 = ...0
e -
Sundry Debtors/ 6,00,000 8,00,000-:};:
Creditors -
= =R/
SECEY
Total 61,10,000  61,10,000]
T

Additional Information :

sfaRea  ge=mg: |

(i) Closing Stock as on 31% March 2017 was;

? 1,45,000.

(ii) Salaries Outstanding amounted m
¥ 15,000. ”
ST &9 37 15,000 ¥ |

6
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(iii) Bad Debts worth T 40,000 to be written off.
S g8 W9 40,000 T g fSfaa B

(iv) Insurance prepaid is ¥ 25,000.
gEeT S § 25, 000 3

(v) Provision for Bad debts is to be created at :

5% of Sundry Debtors.

@géwmmw%ﬂw%qaﬁmS%

HET B

(vi) Depreciate Furniture by 10% p.a. and Motor

Car by 20% p.a.
it (frdmee) witek 9X 10% gfad ofx
qeET HR W 20% Ui & 81 |
OR
ST

You are presented with the following Réceipts
and Payments Account for the year ending 31
December 2016 :

31 RE=R, 2016ﬁ%mﬁm&raﬁrgwm
grar fr=faiea Rar = 3 :

7 PTOG

L
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Receipts 4 Payments o
gt | QT
Balance b/d 20,000 Salaries 3,00,000
T b/d ERE|
Subscriptions Stationery 80,000
e | TR
2017 16,000 Telephone - 12,000
2016 4,22,000 Rent 15,000
| BRI
2015 8,000  4,46,000 Upkeepof 15,000
- Lawn f
SIS
| NCACIE
Receipts from 50,000 Furniture 60,000
sports meet  HHIER
aer W
OTreTar :
Interest on Balance c/d 54,000
investments 20,000 .
ot o . AT c/d
5,36,000 5,36,000

v' Scanned with CamScanner
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e R

T

The following additional information is

available :

o StfeiRert e Bt ®

(a) There are 450'members. The annual
subscription per member is ¥ 1,000. At the
beginning of 2016, ¥ 9,000 was in arrear for
2015. , N
aeedl @ e 450 ¥ i ST 9R wEer
1,000 2 R Smem B1 2016 & GRS F 2015
% forg @@ 9,000 T A1

R O R R R O R e v

(b) Stock of stationary (opening) was < 3,500 and
closing was ¥ 5,000. |

I T WIH (ARE) 3,500 &) S
5,000 T o |

(c) At the end of 2016, rent for 3 months was
- prepaid. (Monthly rent ¥1,000)

frerar 2016 & 1@ § 1,000 ¥ geewr o |
(feres fermar T 1,000 e )

9 ‘ P.T.O.
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(d) Expenses as on as on
were outstanding 31.12.2015 ]"12'2016
g Gl o
Salaries of staff 3,000 6,000
W% H AT

Telephone bills 1,000 1,800
eI fore
Upkeep of lawn 600 ’ 2,800

(e) The buildings stood in the books at
¥ 20,00,000 and it is required to write off

depreciation at 5% p.a.

AT B e § R T 20,00,000 T o

B9 5% faomge gy af e '
(f) Investments at 31.12,2016 were ¥ 4,00,000

carrying interest @ 6% p.a..

31.12.2016 %I fafwirr & 4,00,000 ¥ 3% :m

U =T 6% uftred o7 | '

10
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You are required to prepare Income and

}j - Expenditure Account for the year ending 31+

December, 20 16 and a Balance Sheet on that

date. 10

Geeta purchased 5 machines from X Ltd. On -

1-1-2015 on hire purchase basis, Payment is

to be made ¥ 2,00,000 down and 4 equal hali-

yearly instalments of ¥ 2,00,000 each together
with interest @10% p.a. She paid two
instalments on time but could not pay the
third instalment. The vendor took back
possession of two machines on her failure to

~pay the instalment on time adjusting these

against the amount due. It was agreed to value
the two trucks at 30% less than cost. Geeta
charges depreciation @ 20% p.a. on

diminishing balance method and closes her

books on 31* December. Show the amount of

interest included in each instalment and -

prepare Machine account and Hire Vendor
account in Geeta’s books up to year ending
December 31, 2016. i | 10

11 R o R ih et

i e

o
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Mar ¥ 5 Al wrd o @ 1-1-2015 &t fgy
s qERT T @O TTEE 2,00,000 7 depe
X v 4 o At Y 2,00,000 ¥ =7 =7
afead 10% & a3 9T 411 IA9 a1 & fhe & oie
ey 37 H orather T | kA J & 990 arqm @
1 e ot weHla 9O TR [ A9 & e &
30% 7 AT & BT ST AT ¥ R 20%
g @t 8X 9 Ued U YR W a9 fRar o
a&,314ﬁRFHTEﬁ'FFWE‘?FH%?[ETIFFf%FﬁET
AR =S @ e Rad ok a9k e
e fRrn R @ @ far @ g 3
31 RE=rx, 2016 3 af $ g oF S=A1

OR
HEqQT
Amit sells goods on hire purchase at cost + 50%.

You are given the following information :

AT T B sy iy @ + 50% W A [ A

12
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Stock with customers on 1-1-2016 T 24,000

1-1-2016 & UBFH & [RT =h

. Instalments due, customers

T *ﬁﬁ?mﬂ{uiﬁ;ﬂfdﬁﬁiﬁ% T e T G Lo

paying on 1-1-2016 T 3,000

1-1-2016 S fpeq s umess 7 ofar foRdm
Transactions during the year :
gy $ IATE Qearet

(i) Goods sold on Hire Purchase % 1,80,000

(ii) Cash collected ﬁ < 1,90,000
pal STHT B
(iii) Instalments that fell due | < 2,00,000

during the year

ad & arge feear A e

13 P.T.O.

{
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One customer to whom one TV was sold for
¥ 6,000 to be paid in 10 equal instalmentg of
T 600 eéch, paid 3 instalments on time but coulg
not pay thereafter. On December 15, 2016 after
the 6™ instalment was due and defaulted, the
TV was repossessed and valued at 7 3,500.
Calculate the profit of the Hire Vendor., Show
your workings clearly. 10

T ATeH A o dro i 6,000% ¥ <=7 g7
aﬁww%ﬁﬁwo?%ﬂmwr@m_
s%saﬁrmwﬁmwaﬁﬁr%aﬁq%aml
15 IR, 2016 % 9 6 freT smr a3 2
W@ﬁaﬁmmﬁw%mlaoﬁoaﬁqﬁ
- FET 9 3,500 T aw @ |

BT AH-FGIT Ja5d 5T - »

4. Gupta & Sons, Delhi has a branch at
Bulandshahar. Goods are invoiced at cost plus
25% which is the selling price of the branch.
From the following, prepare Branch Stock
Account, Branch Debtors Account, Branch
Cash Account and Branch Profit and Loss

Account for the year ending 31* December,
2016. ~

14
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TR & IaT W G, Reelt § o ara =gy
%ﬁw%if@ﬁ-ﬁsmm@m, MET IS
e, sn@ﬂaeﬁmeﬂtsv@ram—aﬁr@m

31 RE=R, 2016 #r F=y :

Balances as on

January 1, 2016 |

1 S9a8, 2016 @0 wges
Branch Stock at Invoice Price
MET WIH S o 1%
Branch Debtors

BRUCIIC CIE S
| Branch Cash

QAT el

| Transactions during 2016

2016 &% SR &Q AR

Goods invoiced to Branch

MET AT TaT T

15

25,000
85,000

3,000

3,35,000

P.T.O.
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Goods returned by branch

to head office | 12,500
e prATAd Bl AT & |

It B araEr

Credit sales at branch 1,75,000

TET T SR A @ R

Cash sales at branch = 1,00,000

qar o T R
Césh feceived-from debtors
at branch L - 1,56,000
AT R &R % s
_Caéh expenses at-branch o - 28,000
STET X T ‘
Discount allowed to branch
debtors | 500
AT FIERE B &) IS zg-c: '

16
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%Normal loss of stock at branch 1,000

serr@T Ry Ercﬁ B A B
Balance as on 31st December, 2016 :

§31 =R, 2016 = & 9 ™ 99 -
Branch stock | | 70,000
T V=i

Branch Debtors | Cveenns

sm@T R RS

é3ranch cash | 20,000
OR
STeraT

A Delhi firm has two branches - one at Agra
and the other at Meerut. The branches main-
tain their own books of accounts. For the year
ending December 31, 2016, the Agra Branch
showed debit balance of ¥ 31,450 and Meerut
Branch a debit balance of ¥ 51,000 before tak-
ing into account the following information :

10
17 P.T.O.
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Q?P—ﬁzﬁ}tﬁﬁﬁ(ﬁwmaﬁ{%q
%l&ﬂ@faﬁ%@ﬁwmmmm%’
31 Ra=r, 2016a?rmr?rgqaﬁ#eqmw
o 9w (3fRe) g 2 31450@1%%

= ( )W?Slooomlwﬁrm
g ¥ fFr=faRad g=am o

(a)

(b)

(c)

Goods valued at T 3,000 were transferred
from Agra Branch to Meerut Branch under
instructions from H.O.

%Eaﬁm%aﬁsrﬁmm%ww
Wﬁww@aﬁsoow

The Agra branch collected ¥ 3,500 from an§
Agra customer of the H.O. |

wmsm%am%@mﬁaﬁram
w7 dIE 3,500 2.

The Meerut branch paid ¥ 5,000 for gOOdS_
purchased by H.0Q. in Meerut. |

Wsn@mﬁw%nﬂﬁzﬁmfﬁ“%w
fﬁqsooozwwwmwxﬂ 5

18
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(d) ¥ 6,000 remitted by the Agra branch to H.O.
on December 29% 2016 were received on
January 3 2017 by H.O.

STFRT QTRET ERT 94 e H 29 e,
2016 #H 6,000 T &\ WX RA @I GG
3 SEdl, 2017 & 9=t g
(e) Goods sent by H.O. to Meerut branch during
2016 were in transit on December 31, 2016 :
r to the extent of ¥ 4, 300. A
2016 & A FAM FEAE T A WS

Qﬂ'@Taﬁ‘aﬁTW@r31W2016ﬁ$v
4300?wzﬁwﬁmwm| ' |

(f) The Agra branch showed a net profit of :
¥ 5,400 and Meerut branch a net loss of
¥ 2,600 for. the year ending December 31,

2016. Write up the two branches accounts -
- in the H.O. books. |

AT AET & & AH 5,400 T o7 WX A
IrEr w g ' 2,600 %, 31 ReEeR, 2016

a&%amaasmlnmamfmﬁmﬁ
A saret & @ Ay

19 - - PTO.
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5. A, B and C had the following Balance Sheet
on the date of dissolution :

10

THIT & JE WY To, eﬁoaﬁ‘{é’roqsrﬁm%

ngﬁ( 9 97 ¢

Liablhtles X Assets ?

9and LSRRI R

Creditors 40,000 - Fixed Assets 4000
&R SEREy |

Bank Loan Debtors 24,000

(S5 =) ERCIEg |

(secured on' . 15,000 Stock - 20,000

stock) | LS |

(T o g=far) Cash 1,000
- Loan from A Profit & Loss 30,000
R Account

Capital -'FIT“T x =iy

3ccounts: EEr e

TSN @

A 20,000

37

20
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' B 20,000
L
| C 10,000 50,000

1,15,000 1,15,000

Stock realised ¥ 10,000 and Fixed assets and
debtors realised T 45,000 in all. The expenses
of realisation amounted to ¥ 2,000.

e F o ¢ 10,000 T ) Rex weaRrar a2
TRl ¥ W gT %A 45,000 T | G =9 ¥
2000 %1

A cannot bring any further cash. B had
private assets of ¥ 8,000 and his private liabili-
ties amounted to ¥ 6,000. C was able to pay
only ¥ 4,200. The partners shared profits and
losses in the ratio of 4:3:3 for A, B and C
respectively. You are required to close the
books of the firm by preparing the necessary
ledger accounts. |

To HE Fhal @ J T%el (&dl o | Slo & 99
8,000 ¥ &I s watmar off 1 ofiw & &5 f=h
2T 6,000 Y1 & Baw 4,200 T 37 F guet
T | SRRl & Sre -1 @ STare 4:3:3 o7 |
ST ST9aT & 6 ®H g&ih @5 Y X ST |
Erer &t T 914 | ,.

21 P.T.O.
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HET

i T P

OR

X, Y and Z were in partnership sharing Profits
and losses in the ratio of 5:3:2. On the date of |

dissolution their Balance sheet was as follows :

T, TR S IS W THN AR F Py gy

R TP 5:3:2 H A1 6 wHw Ry 5
®H B Gge 9 e oo B

Liabilities T Assets 3
2gad geafaar '
Creditors 4,00,000 Fixed Assets 5,00,000
Reserve Fund 90,000 | Debtors -2,40,000
Ree ws &ER
Loan from X 50,006 Stock ~ 2,00,000
TR | o I |
Capital a/c : Cash o 1,00,000
T @ T
A 2,00,000
<21

22
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((((

B 2,00,000

T
' C 1,00,000 5,00,000

10,40,000 ' 10,40,000
» The assets realised as follows :

. First realisation - ¥ 3,85,000

i Second réélisation T ¢ ‘1,45,000\

Third Realisation A? 3,00,000

SRIRECE S

The realisation expenses were estimated to be
% 32,000 but actual expenditure were ¥ 30,000. -
At the time of dissolution there was a contingent
liability of ¥ 30,000 against the firm which was
settled at ¥ 25,000 at the time of second

realisation. Distribute the cash as and when
realised in.the safest manner. 10

23 PO,
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agell & A9 & 32’000?&”@3‘"‘7%@#
qrafe® =49 30,000 ¥ ¥4 UH g " F’??‘;r
SO’OOO?E{%@W}WW%WZS,%O;
mwﬁmwnaﬁaﬁraﬁ@mmmm
I faeor 81| o

24 8400
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This question paper contains 8+4 printed pages]

Roll No.

S. No. of Question Paper : 1202

Unique Paper Code : 22411102 I
“ Name of the Paper . Business Laws
Name of the Course : h.Com. (Hons.)
“Semester - b
=Duration : 3 Hours : .‘ Maximum Marks : 75

(Write your Roll No. Von the top immediately on receipt of this ques{i’on pqper.)
Note :—  Answers may be written either in English or in Hindi;
- but the same medium should b'e used throughout the -
~ paper.
femuit : @ y-T w1 W ST @ o<y Rt T W
7 difew; dfeT 99 W H WY TH 8Os
aifgql ' | -
All the parts of a question should be attempted togéther.

I, (@)’ State with reasons in brief whether the following

statements are True or False : 9

(/) Collateral fransactions to an illegal agreements do

not become void.

Ve ; 0 URTO
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(=)

(}) aﬁﬂmﬁmwﬁaﬁm“éﬂéﬁvﬁﬁﬁﬂ

1. (24 I

(if) Agreemen! in restraint of legal proceedingg i
valid.

(iif) Contingent contracts are void.’

What fs the difference between Mistake of Fact ang

Mistake of Law ? Give examples. 6
FR sard 'g'q Eigyie! ﬁf%rq & ﬁmﬁlﬁga R
w9 § A s

1

Gn%r |

-A(ii). ﬁf% Wﬁ‘q'r%ﬁl Ea| 1:-1'63 mﬁamw

" %‘H@m%l

(i Wﬁﬂﬁmw@?ﬁ%‘l

(@)

(a)

awnaﬂa?ﬂaﬁtﬁﬁnmwﬁﬁwmﬁ

‘Wﬁml

Or

(31era)

* State with reasons in brief whether the folloW"

¢
statements are True or False :

() - Quasi contracts are illegal contracts.
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(3) - 1202
(i) ~ Wagering agreements are void ab initio.

(i) Consent is free when it is not caused by coercion

or undue. influence only.
(b)  Explain in detail the position of minor in contract. 6
(F) 989 ¥ FRU TR oo Fifse f frfafea
FYT T § 4@ ama :

-(1). aﬁaﬁﬂqaﬁaﬂﬁm@?ﬁﬁl

) W R gE Y AW R
(i) TEAfd 99 TWAaA Tl § S T8 HId
W—aaéﬁawmgwﬁmﬁﬁ
& S| it |
(@) W ST w R # AR e
a_ﬂﬁ.q: | ‘

(@ () - Differentiate between fraud and misrepresentation.

S

(i)~ P applied for the post of Principal in a scho‘ol. He
was selected by the managing committee but no
formal cqmmunicétion was sbr_1t to him. After some

time committee met and cancelled the appointment

74 B0 )

e e e s

Lo L
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(4) o,
of P as the Principal. He came to know throyg,
someone. He filed a suit against the managing

committee. Was he entitled to. file a suit againg

the managing committee ?

(iif) At the risk of his life, A saved B from a Serioyg

"car accident. B prdmisgs to pay % 10,000 to ¢

/(Son of A). B does not pay. Can C recover ¥ 10,009

fomB? | 17 et ey

'(b) : Differéntiate.be‘tweer'i contract of findemnity and contract

- of guarantee. . ) | | 6
‘('35')‘(1') e ofR Wr—ﬁf{ 3R EIFFEQI

i) pﬁmwﬁfqﬁw%w%maﬁﬂ
%mlaﬁwuﬂﬁﬁﬁﬂﬁmmaﬁwﬁﬁ
TR T ST T g® T g St
ﬁaﬁﬁaﬂtﬁﬁw%mﬁpaﬁﬁﬁ
aﬁﬁaj‘{ﬁ:mw_l freh & g0 S W
Wﬁwﬁ T I ey Wil & s

T =T ) Sy weiy w9 s
Sl SR w1 v e 2
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(5): - | 1202
-(iii) 3 Sia ) e H SR A 5 T Hom
T e ¥ B Y == T B, C FN2 10,000
ﬁaﬂ-ammm%lc,ha»‘rﬁa%l
B Y & a1 ¥ w0 C, B A2 10,000 FTHA
H Hhdl © 2
(@) sfrgfl F1 wh@ ok WA F shRE F ek
R Il |
I..eOr
(rg=)

(@ () “Ratification tantamounts to prior -authority.”

Comment.

@y C agreed to let out his musical hall to T fora series
of concerts The hall was accadently brunt before
the date of the first concert. T sued C for damages

“for breach of contract. Can T recover damages for

breach of contract ?

(iii) X hires a car from Y and agrees to. pay hire charges
of ¥ 1,000. The brake of the'car is defective but
Y is not aware of it, X uses the car and gets injured
in an accident due to faulty brake of the car. X

P.T.O.
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(6) ' ’ 120
claims compcnsation for the injuries suffereq by

him. Will he succeed ? g

() Differentiate between actual breach and anticipae,
‘breach. A
(F) () “oFH9IA @ WTHFER & T g 81" feopn
j(ii) c A T # Foer i w3 3 fm
"BTWﬁTﬂH—BTFIT.Hﬁf%‘{TQTR?ﬁm
TR el wht it & R Fw
WA A o o M) Wi ¥ g @
T3 &t B o c R g T R #
TR B fer ¢ ¥ aff e
(i xJY‘E‘WAWﬁWIWﬁm%aﬁHl,OOO
- T & fo wemm @ w31 FR W
W WA 9 WY y ) se@ aR § T
WX FRH T w7 § ol FR D I
F W W G R ey § @ A
S E X, T  qe B fora g F

WA B R 9w wwe w2

() At s st yenfem i siw www
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(i)

(iif)

(7) | ' 1202

"~ When can a breach of condition be treated as

breach of warranty ?

- “Risk prima facie passes with property.” Comment.

R bought a second hand motor car from D and |

used it four months. It was discovered that D had

no title to the car since it was the stolen one. On

b'éing compelled to return the car to the true owner,

R sued D to recover the purchase price. Was R B

" entitled to do s0 2 ' 9

- (b)) _Distinguish between,‘Sale’ and ‘An agreement to sel»l’ -

(F) ()
| (if)

(#ii)

vﬁw@ﬁaﬁmaﬂﬁm%mﬁw

FﬂFﬂ%71_v :

e e <ot & W v o g 2
RAD AT T I ok W

HEH wIedl | I =l fF %R W D % we
Wﬂ'ﬁ'f%aﬁﬁmaﬁaﬁeﬁlm

’Wﬁﬁwﬁaﬁ%mmwmﬁv

P.T.O.

fotoae .
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(8) 1209
RAD S faah w9 #a oqe w5y 3
fo e =@ i = R A T R g
CTE el ? ‘
(@) ‘fospt’ iR ‘Tt =R # HAR =Ry
Or
(@) Explain the rights of an unpaid Sellcr against the
- géods. 9
®) - ()  Define the term “Delivery of Goods". State the
different modes: of efféqtive deliver.y; of goods.
@ X, the o'wnér of a car, hands over the car to Y,
a.mercantile" agent _and"'gives him instructions to
'sel‘l the 'c'ar subject to a reserve price of T 6 lac.

R sells the car to Z for X5 lac and mlsapproprlates

money Z buys the car in good faith. Will Z get

goad title to’ the cay % fHEati .6

(a?)mﬂ%wﬁrmfamT%armﬁwm
L |

]
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(9) 1202

(@) () ‘e ugE’ weg w g s e
F g TgE @ fafu= Tl w1 Sedd
HifT | |
(i) X TH.FR H @ B, g€ 98 HL Y AHF
aiftrfiees Tore 1 2 ¥ ¥ it I fear
<M § 5 95 Wi HHd % 6 T H FR
Ea aﬁrén‘v,?S'aﬂg‘ﬁ g HR Z F1 99
ém_%afﬂwrrmw'gﬁﬁa‘rmm%l
7 T # FR TS A ¥ H 2 FFR
1 b iR felm 2

(@)  Explain the provis_ions,’relating to voluntary winding up
of LLP. ; IS

() ()  “A Limited Liability Partnership is a legal -entity
. distinct from its members taken mdividually-or

collectively.” Comment.

"~ (i)  What protection is provided by LLP Act to partners

and employees regarding whistle blowing ? 6
(%) LLP % &= GHIT § Haftm soaeanst it e
Y ,

P.T.O.
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(@) () “Hifrw el St fafy &
o o ¥ = ® W) wafEma ey

a1 wrfess &9 HI" feoroht wifsm
(i)  WFTERI Bﬂimﬁﬁtﬁmﬂmm
@wﬁmwgm LLP aafuﬁmﬁffhrg

_% )
(3t

{(a) Explam the procedure an& effects pf conversion of a
_-partnershlp into LLP as per LLP Act 2008 _ 9=

(B):~ (D) -~ . Explain the extenpt of Iiabilit_y of' LLP'. ,

"(1_':') What are the ehgnblllty COﬂdlthHS for a-designated

| partner under the LLP Act ? » 6

(%) LLp s, zoog%aqgwwﬁaraﬁmﬁwﬁ
W i eik ERle aﬁ AT FHfT |

- (@) @) LLP%W@W&?ﬁﬁW
' Hifs |

(i) LLP sifefremy @ siq ﬁﬁwmﬁm
| RIERIERIGEC:: I
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(@)

(b)

(%)

(J)

(a)

(b)

(1) 1202

What is E-Governance ? How does IT Act, 2000 facilitate

e-governance ? 9

Discuss the objects of IT Act, 2000. 6

3-Ten=g =1 ol & 2 17 fufaad, 2000 fFE 9FR
Lt W g ow ¥ 2
IT fafrs, 2000 3%:‘\7??[ Ed| faé?:r‘ﬂ ‘qﬁ%ﬂ{l
_ N -
(3T
() The Appenaﬁ Tr'i-i-aunal-hziis the same powers as

“a Civil Court but an ag,grie\;ed party may-appeal

to the High Court.

(i) Explain the meaning and ﬁunishmeht for publishing

or transmitting obscence material in €lectronic form.

(i) Define the terms : Computer Resource and

Intermediary. : 9 -

What are the functions of Controller of Certifying

Authority 7 | \ 6
P.T.O.

3
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ﬁmﬁﬁql- | o
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'Note:— Answers may be written either in English or in

This question paper contains 8 printed pages.
Your Roll No. ......cccooeuiee I

SI. No. of Ques. Paper : 1203 I
Unique Paper Code  : 22411301 |

Name of Paper : Human Resource Management
Name of Course : B.Com. (Hons)

Semester : IIX |

Duration - . :3 hours

Maximum Mark.f : 75

(Write your Roll No. on the top immediately |
on receipt of this question paper.) |

Hindi; but the same medium should be used
throughout the paper. '

fecquit:— §7 F¥97 & IW AT A <1 6 &
yTaT AT SfHT Gt I F AT TF &
g AT ‘
Attempt all questions.
' All questions carry equal marks.

gt gy fErd &
gt gy & 3F gu &

1. (a) Explain the concept of “Human Resource Mana-
gement”’. How is it important to both individuals
and organizations? , . 1
‘THE WAy JIE el WHTIHT Sl HAFIST | U”
SAfFa @ G, Q1 & fou weeqel FWR? 7 l
v et = P.T.O.

Scanned with CamScanner



1203 ' 2

(b) Define “Workforce Diversity”. What steps o,
measures would you suggest to effectively Manag,
- workforce diversity in an organization?

‘Frdga fafggar @ IR HSET | 2y T
e ¥ wrdaq fafqgar & y9EEmEt yey
foTq forT el a1 SUTET T o 37 7 g

Or (379e)
(a) Discuss the role of HR manager in building up

core competencies and creating competitive
advantage. |

e qEEe B @ ek sfremetes @ §
T T A AN G oS S i @
qU T | _ 7
(b) Define ‘empowerment’ and ‘émpowering organi-

i - ,
nzation’. Explain the common barriers to em-
ployee empowerment in business organizations.

AT | e G A
S & W Sy T | 8
2. (a) o

W . maj i
hat are the major problems of interview as @

selecti . . . ‘
t%on tool? How can. interview be made more¢
effective? ' '

T SUR % g ¥ gemen s w0

qHETE ¢ 7 ISR ) fpg sen sifyg g9
ST ST Wehal R 2 7
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(b)

(a)

(b)

 SuEew @ TR w @R e ae |

3. (a)

(b)

(a)

3 | | 1203
Expain the concept of job evaluation. How is job
evaluation different from job analysis?

& RIHT H FehedT WAART | qeieh

e SR e fawamor & fir 82 8
e  Or (g

Briefly explain t’he ciuantitative and qualitative

aspects of human resource planning.

I qEed faeH & qiRAves 991 IS
Teqel W €AY ¥ qHISy | 7
Define orientation and discuss its importance for
the organization and the employees.

wﬁmﬁﬁ,ﬁ;mmmaﬂﬁ%ﬂaﬁﬁm 8

Distinguish between training and development.
How will you determine the training needs of a

manufacturing enterprise?

Yfsteror 9 faer o =R Fif ) it e w5t

e STATEEAET H AT S FuiRa w2 7

Write an explanatory note on any two techniques
of Management Development.

sy o s Bl @ dediel W e

feoquit faf@q | 8
Or (@) |

What do you understand by Potential appraisal?

How is it different from Performance appraisal?

P.T.O.
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.(b) “Counselling of employees results .in reducing
conflict, frustration and stress.” Do you agree?
Give reasons in support of your answer.

el # v 1§ wed, FrR e wm
w7 AT T W AT WeHd T2 AW IW F
guef § #Ro gt | 8

1203

4. (a) Discuss - the merits and limitations of seniority
~ based promOtion and merit based promotion.

afcsar anaiid  wQr=T o drgar e
T % o & el S e ST 7

(b) Define social security and explain its significance
" in the context of Indian working conditions.

- g QAT H GRWiid SN aur S w0
& aRdt TRfeRE % el ¥ sww W
e 7 g

' . Or (J19an)
(a) What does the concept of compensation imply’

What factors should be considered while deter-

mining the financial compensation of employces
of an enterprise?

Hﬁiﬁfaﬁmﬁwﬁfﬁ%7ﬁm3ﬂﬂa’
FHAE el wfaqfd froffa ww @
BT R & e § T ey ? i
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(b) Explain the applications of Human Resource
Information System (HRIS) in a modern
organization.

_mewma:@mgﬁaﬁwﬁ
aﬁnﬁmww;qn | - 8

5. Write detailed notes on any .t'wo of the followin’g:

(a) HR Audit -

(b) Importance of collective bargaining
r (c) Employee Stock Option Plan |
| (d) 360 degree appraisal
(¢) On the job training methods. :
(a) Ha HETE SHeReT +

(b) w@aﬁaﬁmﬁaﬂ%r—q‘

~ (c) ESOP |
(d) 360° HeeH - .
(e). @ W wfieror fafera | 7-5x2
Or (31gem)
Case Study

Last year, Mr. Manohar had received promotion to the
position of Manager of Engineering Department of
Madras Manufacturing Company, a medium sized firm
P.T. O.
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producmg numerous houschold products. Manoh
had an electrical engineering degree and had bf:e
working with the company for about seven years afte,
graduating from a reputed institute of technology.

Manohar’s record as a design engineer was excelleny
He had developed three new products that were belng
marketed around the world and was widely Irespecteg
for his innovative contributions to the company
recognized for its reputation as the industry leader ir
new product research and development Throughout
his seven years with the Madras Manufacturmg
Company, Manohar had kept himself up-to-date in hjs
field by reading engineering journals and by attending
conferences and workshops. Because of his technical
.engineering experience with the company and his
ability. to get along with people, top management felt
very confident in promotmg Manohar to the posztlon '
of manager of engineering department

* Manohar’s early experience in coordinating the
working of eighteen engineers in the department
proved to be a real challenge. He experienced
considerable difficulties being a manager as compared
to an engineer. He continued to be very involved with
research and product design and worked very long
hours (sometimes upto twelve hours a day) in order {0
keep up his design engineering.

Recently, Manohar was told by his boss that he wa
not providing the leadership to the department thal
top management believed was necessary in order {0
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achieve maximum effectiveness. Manohar also began
to feel pressure from some of the engineers who
likewise believed that he was involved in performing

routine engineering jobs and not managing the
department,

Answer the following questions on the basis of the
above case study:

(a) What is the basic problem confronting Manohar
as a manager? '

(b) Did the management make a mistake in promoting
Manohar to the position of a manager? '

(c) What suggestions would you like to make to
improve performance of Manohar as a manager?

TR ST A, TH 7 SER 9 S S
TeEft & o SdEl & Fmiv S f, Y fawa ad st
TR W A e % s ¥ we W ey
< 1 St T & U g sa seitaaiT 9% fent off
AR & wEla S TN ¥ 6 50 ¥ e
9 W 9T ¥ FO H FERa o

T feqmga SR & &9 4 st vt &1 R 3am
o1 | 3R @ T4 IRl w faer feran o faee
Tl favg & fauum feam ST @ o1 et @y Ry
A T ANEET & AT T s 9§ TOE
M o7 R 39 SN0 FWA T3 IAREl ¥ WY g
fosm & fag sdm & et @9 @ wfder ¥ fau

Wt o | "EE AREEin s S oWy ey
et ¥ e F ot T Y st W@ s
qgal qul el R SRl ¥ W aEw
&7 T U MU SYMhd: R TN | FHrgt

P.T. O.

4784
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¥ mr ST A /qeE S % RO A ey
X gy Yo @Y @ T FEEAd F R g
e A S T W A (AT & e oy
R YR, HW N S |y TEl e a3

 Rwm ¥ 18 siwEmnE % @Al W OEAM F: g
qﬁ%ﬂw&ﬁqﬁm%ﬁiﬁmﬁiﬁwxmw
3 | TF AT ¥ e T e g 7 3%
sfomgdl w1 owa gal A WA wH R zmw
R (Fre-fret i 12, 5 ) 3wt fesme @b =
T T T WA & (e | | ‘

e @ d mR W 3uS At 7 el {6 9% faam
% Iq TS A R I @& S I FAHA F A
o1 i sifbsad TAEYiEAT UM % fAU HEyEd el
IR S A ¥ Fo afwgmrell ¥ oft @ AT
F W oW S g ot AMe ¥ f A fam
Yoy EY ¥ WM W G syt o E
| @ § | e

3% HE R F R | e e F S T
(2) YoHE & & F TR H TEA FA1 I T
7 |
(b) FAE H Yoy F Yg W GRIA Hieh FAl T

T 3 Tadt w82
(c) YUF % w9 ¥ W Qe ¥ gAR W ¥
fe o == e 3 = ? 3x3

. g4
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[This question paper contains 32 printed pages]

Your Roll No. R AR NN P :

SL No.of Q. Paper  :1204 - I

zUnique Paper Code 122411302

?Name of the Course : B.Corﬁ.(Hons.)‘

EName of the Paper = :Income Tax Law and I
L Practice g o |
Semester ) s 111 | g S e |
g ime : 3 Hours Maximum_Marks :55

E (a) Write your Roll No. on the top 1mmed1ate1y

on receipt of this questlon paper.

quq—w%ma%wmaﬁéwm
T HeX R |

(b) Answer may be written either in English
or in Hindi; but the same medium should

be used throughout the paper.
P.T.O.
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gd HFA-UA Hl 3I<IX aﬁ?ﬁm%ﬁﬁmﬁ%’
w7 § i, dfeT gl 39T o & W 3
g =Ry |

(c) Attempt all questions. | |
T we B owT ¥
(d) All questions carry equal marks.
et el ® ofF TEE | -,,

1. (a) Define prewous year. Enumerate the cases

in which income of previous year is taxable
in previous year itself. 3

é]ﬁngmrqﬁaﬂﬁﬁﬁﬁmwsm%?ﬁ
g @i e ot S | e R LS
AT, ftra—‘rmaﬁr'é‘raﬁ'{%uﬁwénf

(b) Differentiate between assessee and person,

v 3

e SR SR B A ot T HIT
Mr. Suresh lives in Hyderabad He frequently
visits China for business purposes. Using the
_information given below about his stay i
India for different previous years, determine
his res1dent1a1 status for AY 2018 19.

(c)

i
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Mo W1 ¥axeme F wy ¥ F =z &
SR T aR-aR AT B AEr B T A
ST RS F fBw o adf § T 5 S
& T R SW F o W ad 2018-19 & Ry
SHN STara Ryfy @ e St

Years  Stay in India Years ‘St_ay in India
sl TRA T wEre -t aa #yEr
(No. of days) (No. of days)
Rt e R 1 i
2017-18 200 2010-11 83
12016-17 100 2009-10 189
2015-16 ) 2008-09 -99
12014-15 90 2007-08 66
'30.13_-14 84 2006-07 25
2012-13 105 2005-06 52
12011-12 162 ~2004-05 120
P.T.O.
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OR
FHECT

(a) Explain the scheme of partial integration
agricultural income with the total incom,
for computing tax liability. 1

3 & B T H T FA ST B A iy
T B A THBTT AT B A 3¢

(b) Compute Income Tax liability for AY 2018-19 _
of Mr. Sachin (age 39 years, a resident *
individual) whose total Income is  3,50,000.

. | 3 f
fro @i & af 2018-19 3 Riw 37 o a¢
H O HR, e T e %.3,50,000 ¥
(Tp wig omerdt, S5 39 arsf)

(c) Mr. Sarthak, an Indian citizen settled in
Netherlands in 1998: He comes to visit India
after a long time during PY 2017-18 on’; i
12.12.2017 and leaves India on 06.04.2018.
He furnishes the followmg information.

Determine his taxable income for the AY
2018-19. . )
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WA g9 3 o @refes, st af 1998 @
Aetdve & =@ gu ¥ agd @ A ¥ wnd
¥ g ad 2017-18 B A Rews
12.12.2017 =1 amgg erd ot =i
06.04.2018 & yRT 8T Ry | I e
STHIRAT gwga @11 3@ ouY, 9x oy
2018-19 % e It BT 37 AT ST BT |

Particﬁlars ‘Amount (3) |
st )

Interest on Indian Bank deposits

pertaining to PY 2017-18 35,000

T 99 2017-18 F ARy

9% F ST RT F oA

- Dividend from Indian Company

received on 31.03.2018. 68,000
AR B § oI @i

fesTl% 31.03.2018 =

5 | 'P.T.0.

bl L
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(iii)

(iv)

v)

Income from agriculture in 1,45,000

Netherlands, received there

during the PY 2017-18.

e ad 2017-18 & wfadds

o e iy T |

Technical fees received 55,500
by him in Netherlands from

Government of India on

15.10.2017.
femi® 15.10.2017 &t HeXcis

Rental _income from house 87,000
situated in Netherlands
received in India on |

22.12.2017.

Reiep 22.12.2017 # AR

¥ fadvs § Reg qEE @
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Gift received from friend 1,25,000
in India on 04.04.2018.

Rl 04.04.2018.24% TR

AT A AT Srewr |

He made Donation to PM . 25,000

national relief fund during

- P.Y.2017-18.
AT a¥ 2017-18 P R

G%ﬁ%rsram%’ﬁr@uwﬁﬁrtr

g+ fRar)

(a)

Mr. Dhruv (with 60% hearing impairment-
certified by medical authority) is 55 years
61d'resident‘individua.l and is Wdrking as an
assistant manager with STAR Pvt. ‘Ltd. in
Chennai. He furnishes the following
information for the PY 2017-18. Compute his

total income and tax liability for

AY 2018-19.
70 - PT.O.
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o ga (60 mfcrer =r@eT F e - faf,
TTERReT ERT HHIORT) ST 55 a91a g eafy
¥ oiR ¥ =R migae Mo & @eras Jewus §
w9 H A8 H A B @ 7 | I P g
2017-18 & Rrd Fr=fmas ST=eiar mey
| I TR a9 2018-19 & fig Iw
Feget e R Y AT & O i)

—

S. No. Particulars | Amount (j
wE. o= - Tfr )
(i) Basic Salary 60,000 p.m
(iij Dearness Allowance 20,000 p.m
(60% forms part of salary -

as per terms of employment

WW(W%W%
amrrtr{6onﬁma) ‘

(iii) Commission of 8% on turnover | 64,00
of ¥ 8,00,000 achieved by |
Mr. Dhruv for PY 2017-18.

8
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ITT a9 2017-18 B R fyo gl aRT
< 8,00,000 § =f-aiet % fora
8 TS 8 e | |

Transport Allowance . 4,500 p.m.

(Expenses incurred ¥ 1,500 p.m.)
AT T |
(ffper & ==f T 1,500/ -7%)

Conveyance Allowance . 3,500 p.m.

(Expenses incurred ¥ 3,000 p.m.)

AR T

(Frar 15 == ¥ 3,000/-91%)

House rent Allowance 32,000 p.m.

(Rent paid ?lQ0,000 p.m.)
HIT fBar wear
(Retrar 27 % 20,000/ -71)

9 4 P.T.O.
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(vii) His employer provides him an 20,000
interest free loan on 30.08.2017:
to purchase Air Conditioner .
According to terms of repayment
of loan, Dhruv has to pay ¥ 1,000 p.m.
starting from November, 2017.
(SBI lending rate : 10 %) ‘

S FEERT ¥ 9% REiE
30.08.2017 i =<1 e i
R FEIR Tl F R R
AT GRRT B R Bro gg ¥ St
_ 2017%%%%1,000%3;@ -
=1 (SBI *=vre (31%) 3= 10 wyfereTe)

(viii) Company contributed towards 9,000 pm.
Recognised provident fund to

which he made g matching
contribution.

W%’%%%ﬁmm
o qhr |

10
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(ix) 13% interest credited to his 39,000
RPF a/c during PY 2017-18.
STH YA af 2017-18 F G-
13 gferd 39 =T
;’(x) Lunch Allowance 2,000 p.m.
SERIS
(xi) Dividend received from 10,000
Tata Corp.,_ Indian Company
ARAE BT, el HERYA A
oIS i
xii) Interest on Saving bank account 8,800
with Panjab National Bank . |
9SS et e B aad @ o
8
Lid~ P.T.O.
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(b) Ilustrate Provisions of income tax act
relating to tax treatment of commuteq

pension. 3
Fges 91 B HL SIAR T TG SIS
ot & Srau™ & g B |
OR
HECGT

(a) Raj, a General Manager of Reliable Company
Ltd., retired from the company on 10.8.2017.
At the time of such retirement, his basic
salary was ¥ 70,000 p.m. He was also entitled
to dearness allowance @ 20% of his basic
salary. 60% of the dearness allowance forms
part of the salary for retirement benefits.
He had worked with the company for 10 years
11 months and 15 days. He got an increment
of ¥ 5,000 in his basic salary w.e.f. 1.2.2017.,
At the time of his retirement, the company
paid him a gratuity of 310,00,000. Raj had
earlier worked with S. Company Ltd. from
where he had received gratuity and had
availed of an exemption of < 3,00,000.
Compute the amount of exemption available
out of the gratuity received from Reliable
Company Ltd. He is not covered under the
Payment of Gratuity Act. 61

12
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TS, RivTae it fro & gemarass, fRwis
10.8.2017 =1 71t & e gu ¥ | Regd=
% THT I g J99 T 70,000 9RY 9E 97|
3% I O qa9 H 20 gewd & eT I
TS el 9T BT o | Rera<ie=e ardisr &
9 H BT 3% I99 H 60 Sy FEMS A
gI<T gl | I/ =1 & arg 10 99 11 918
AR 15 T = fear € T 5,000 &
FeIcd Ik g Jad H YR X A%
1.2.2017 =t 9T &3 | RE@E<T & @99 T -
¥ 3= ¥ 10,00,000 & ITS f&ar | T 36
Ted TH. HOAl Rifes & A B B g1
sEF g¢ I==iF T 3,00,000 & IYS i< fHar

(Fregsdl) ® SU@ed gL Y MOET HL TS
ﬁqﬁqw%w%a’amﬁaﬁ%z

(b) Discuss the rules regarding valuation of a
rent free accommodation provided to the

employee by the employer ? 5
T & &1 emfrrﬁﬂr Fr I HAA T
oo Ted-deT @ gediT B Rt @ ==t
B |

13 P.T.O.
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3. (a)

(o)

/
What are the provisions applicable for "House
property’ when unrealised rent is réalised

subsequently under Income Tax Act, 1961 ?
J&

‘W_m%’%%ﬁwmﬁmw%?m
ararRciiaen FpIrE, AR arfafed, 1961 %
qeq arefaes fRrEr 8 Sl © |

Mr. Lal, a Chartered accountant, owns a

remden‘aal house property. It has four equal
units. Unit- 1 is self occupied by him for

residential purposes, Unit-2 is self occupied

by him for professional purposes, Units— 3 iy
let out for residential purposes and
Unit- 4 is let out for business pUrposes. Rent
for Unit-3 is T 12,000 p.m. Rent of Unit-4 is
7 9,000 p.m. This Unit remains vacant for §
months starting from O1. 01.2018 during the

previous year. &

L
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3529 B R <@, gﬁrzsaa‘rmﬁzr?—c*sm
@T@Wﬁﬁwaﬁwé@;mml
gfwe-3 aarﬁimm?lz,ooo,qi%r%%lgﬁz—4
asrﬁ?rm?9oooslﬁqv%|fﬁmﬁw%

_aﬁmﬁ:mommmsﬁsm’%mg&ra
el o |

Mun1c1pa1 vélué ofthe : < 4,00,000 p.a.
property |
gfered Trafe ﬁr wrﬁa Eﬁ"lﬁ |
| Standard Rent . O 4 4,86,000 p.a
Fair Rental Value l ; | < 4,12,000 p.a.
Expenditure on repairs : < 24,000
of the property

15 P.T.O.
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Interest on borrowed capital : ¥ 1,60,00()
(barrowed during 2001 for

construction of this property.

Loan is still outsanding)

SYR Ot ) =7 (af 2001 & A

T T B oI ’G forr T @

ST ST @ )

Municipal tax is imposed at the rate of 10%
of Municipal value which. is paid by Mr.
Lal.

'W%%Wﬂﬂ'ﬁamsﬁ 10
gfsr B, Bro @t & &y 3 3

Mr. Lal has Income from 4 2,55,000
other sourceé of |

Al A o a5

ST oty

Compute his taxable income for AY 2018-19.
| | 8

aﬂzaawaq‘zolslg%%aaﬂ%qamaﬁ
TOTHT ShifT |

16
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OR
SHET

(a) Discuss the provisions of section 44AE of the
Income Tax Act, 1961 regarding computation
of income on estimated basis in the case of
taXpayers engaged in the business of plying,

hiring or leasing of goods carriages. 3

AEEN B BN, SR @A TN ST HEAT oy
fpEl HIERT & HX & O HIA G
R o gui o] R, 1961 B
A 44AE F orriaq M)

(b) Ms. Jyoti (age 40 Yrs, a resident individual)
furnishes the following information for the
PY 2017-18. ' 8
o sEifer (Tw 40 ad, T STERI) T W
f 2017-18 3 R PRI STHERTRET SR
i |

17 P.T.O.
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Profit and Loss Account for the year endﬂ?

March 31, 2018

qd @ off~ad, @ 31, 2018 & R @mH wy

INERCIN
ks | 2
‘»Purchases - 2,00,000 Sales 15,72,0(;(;
Salary, Bonus  4,40,000 Bad debts 2,001
and Commission - recovered
allowed in

earlier years by

Assessing officer

I, A AT @ T ol
il . m@ g
T @
18
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Household | 2,500 Interest on 25,000
expenses Debentures
g Bl HT - of RIL Company
T 03TE oTT o
. O T A
Advertisment  1,30,000 Refund on 1,000
SEIE | e b i Income Tax
AR | 99
Income Tax 19,000 Shortterm 31,000
SIECT | | profit on sale
| | - of Investments
g T & R
| SECIENESIC IR
Donatipn to 2,500 Gift received 22,000
National defence from father |
fund K

19 P.T.O.
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Life insurance 2,000
premium on life

of assessee
Site & ST §T
ARE SR ifETy

Gift to 1,50,000
customers

Provision forr ‘ 2,000
bad debts |

T B T B

o Uraa=

Depreciation 32,000

JBTT

20
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Contribution 1,00,000
to national lab for

applied scientific

research

ST diwE @i

3 A T =

FI ST

Employer 20,000

contribution to
Rcogflised

provident fund

i afrsy R

% foa e &

ARTET

Net profit 5,53,000

I AT

Total 16,53,000  Total 16,53,000

HA B
21 P.T.O.
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Additional Information :
e ST
(i) Salary, Bonus and Commission Include -
I, N AT HHISN e ¥
(a) éalary to proprietor 50,006.
Hifeh #h I T 50,000

(b) Bonus paid to employees on 02.11.2018 ;.
< 30,000.

At @ R 02.11.2018 aﬁr aq
g4 ¥ 30,000

(c) Salary paid to brother-—in-law .
< 20,000 ; ¥ 5,000 found excessive.

T g B 3 FaT 20,000 ; T 5,000
ST qrar 797 | |

22
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(ii) Advertisement expenses include a bill of

{ 40,000 which is paid through bearer

cheque.

e T we R e 3 40,000 2T T,
RT oReh A BRT ST RRAT T

(iii) Depreciation u/s 32 is {K.)',OOO.’
TIET u/s 32 & oT=rra < 40,000. ¥

Compute her taxable income for AY 2018-19.
ffperT ad 2018-19 & R IH HRA A
IO i |

4. (a) Write a brief note on exemption in respect
of capital gain arising from the transfer of

residential house property u/s 54 of Income

Tax Act, 1961. | S

23 P.T.O.
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)

O STEATHE "X &t THfed & rEr=aeoT o

T @l § g @ aofi et erfafrem,

1961 & TFAT 54 F oT=<rid U @ierg e
T |

(b) Mrs. Sunaina Khera (age 69 years, resident |

individual) furnishes the following [
'informati‘on pertaining to PY 2017-18. E
Compute her taxable income and tax liability |
for AY 2018-19. - 6
T g &% (SH 69 are, e )
.ﬂ"'IT;TFf 99 2017-18 ¥ Hatud Fr=fiRed |
STt 3t ¥ 1 offepert o 2018-19 & Ry |
HIGT ST TAT HT A P TOMFT HTT |

(i) Receives a gift of ¥ 1,20,000 from her

father's cousin.

- O % ==Y WiE ¥ o e T1,20,000 |

24
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(i) Purchases a house property from her
close friend, Neha, for T 2,55,000 (stamp
duty value of the property is ¥ 12,00,000).

3T AT %ﬁw Yo ERT @O e
i X 2,55,000 (F=RT @ @@= g7
e  12,00,000) 1

(iii) Receives ¥ 7,00,000 as Net winnings
from lotteries where tax deducted at .
source @ 30%. |
dfedt & S s 2 7,00,000 Rrad
@HQTWEﬁﬂ?a?ﬁ3OHEﬁTH?ﬁaTﬁ
2 |

(iv) Receives Dividend of 1-,00,_000 from

| [nfosys Limited, an Indian Company.

TH AT zﬁ:q-—ﬁ sﬁﬁm %ﬁ%@: AR
oI e < 1,00,000|

25 - P.T.O.
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| (v) Receives a rental incorrle of ¥ 20,000
from letting out of furniture (not charged
as business income).

PR @ oRiT TR € 20,000 g, R

T ¥) | |

OR
AHEGT

- Rohit Gupta purchased a flat in Ghaziabad
on 01.07.2002 for ¥ 12,00,000. During June
20 10 he g1fted the property to his brother
| Chetan However, Chetan passes away in
August 2016 and the property is transfered
_,throu‘gh his will in the name of his son
Sumit.' Sumit\' incurred ¥ 1,20,000 during

2016-17 and ¥ 80,000 during 2017-18 on

the 1mprovement of this property He sells

26
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the property to Abhay on 12.10.2017 for a
consideration of ¥ 88,00,000. He paid
commission @ 2% to the agent for arranging

this deal.
AfeT T 7 R 01.07.2002 @t TRw@mEE |
7 h we T 12,00,000 F @-aanvff 2010
% A SN aE Wi oy W A
W%mﬁ%miegﬁw_mgm
2016 # aﬁﬂ'ﬁ'ag'a#mﬁ'amﬁ‘qéhﬁﬁmw.
¥ TR qT T AT P B T & gt X
5 wﬁﬁ % fepra =g 2016-17 & I
K 1,20,000 &em 2017-18 & T I 80,000
< fpar) 9gd ga waka B RAS
12.10.2017 Fr o1 3 e < 88,00,000 F
e Ry S =@ & @ R 2 miwE H

ﬂm@waﬁﬁml

07 - PTO.
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He utilised the net sale proceeds as follows .

a3 e ¥g P @mavs orger ¢

(i) Purchased Rural Electrification
Corporation bonds worth ¥ 8,00,000 on
22.12.2017. |
R 22.12.2017 @ ¥ 8,00,000 =57 Ty
e P s @ e

(ii) Purchased a residential house property.
in NOIDA for ¥ 35,00,000 on 05.01.2018.

&7 05.01.2018 T FT=T F TH AEET
7Y ¥ 35,00,000 & @=T |

(iii) Subscribed units of Notified Mutual funds

(Equity Linked Savings Séheme) worth
¥ 1,95,000 0n 11.02.2018.

&=t 11.02.2018 & 7 1,95,000 3 e
€ (Equity Linked Savings Scheme) #!
YETT Ay |

28
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- Compute the taxable income of Sumit (age

47 years) for AY 2018-19.

SAThe a9 2018-19 & R ghw (3w 47

a¥) H BRI AT H T AT |

PY R Cost inflation Index

g O ged HaT e @i
00102 | | »1‘00’_
12002-03 oo . 105
zooé-io. s 5 | 148
2010-11 i 167
2016-17 E "
2017-18 s i ‘272'
__3918-19 G 280

11

29 P.T.O.
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5. (a) Explain the provisions relating to clubbing g
income of a minor child U/s 64(1A) of Income

Tax Act, 1961. 6

aTpT oAfufEaH, 1961 & dFET 64(1A) 3
AT X AT ded hl ATIHRL F 3+ 3
a1 e S |

(b) Briefly discuss the judgement delivered by

Hon'ble Supreme Court in the case Philip

John Plasket Thomas vs. CIT regarding

&

clubbing of income. 3

Wm’ﬂ@?%ﬂ?ﬂ?ﬁoaﬁoaoﬁ
'Hmﬁﬁﬂﬁﬁqgﬁqaﬁé%ﬁﬁuaﬂmﬂ

HREAT Hi |

30
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OR
HEMCT

(a) Discuss the provisions of section 71 of the
Income Tax Act,1961 regarding set off of loss
from one head against income from another
head. . _ 6
@@T@ramawga%@'{@raﬁ"(gﬂaﬁ) |
T TR SAffEE, 1961 & aam 71
& ﬁzm ! faftes ==

(b)) M/S. Rama Krishna & Co., is a firm carrying
on business. It has business income of
< 3,60, OOO It has paid interest to the partners
@ 15% p.a. amounting to ¥ 1,50, OOO which
has been debited in the profit and loss

account. Compute the interest and

remuneration allowable to the partners.

31 P.T.O.
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Ao T G wws FET ¥ wEEr 3 o
GH FAET | I HaArd @t E T 3,60,000
Y| g8 ofud dERER H 15 uftwa aiftdes =
ax B orgaX % 1,50,000 AT % &9 H I
2| e H a9 Arg IR (2AT) d aiE e
Sl O HITL

32 8400
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This question paper contains 8 printed pages]

Roll No.

. No. of Question Paper : 1205

Unique Paper Code : 22411303 I
Name of the Paper ° : Management Principles and
| ‘ Applications
Name of the Course : B.Com. (H-ons.) (CBCS)
Semester | R || | |
~ Duration : 3 Hours | ST - ‘Maximum Marks : 75

|
(Write your Roll No. on the top immediately on receipt ‘of this question paper.)

Note :—  Answers may be written either in English or in Hindi;

but the same medium should be used throughout the

.paper.
famrﬁ mm—wmm aﬁa‘rmﬁﬁrﬁ-ﬂ?@w
§ difsg; Afe wil SWE A e TE " L L
wfewl ,-
‘- Attempt all ﬁ\;e qﬁéstions.' '
Question. i(a) is lﬁéndatory for all.
Wit ura Ff
T (@) ot & fou afEdE T
L (@)  Voltas has been manufacturing and. mqueting Air
y the

VCOnditioner.s for a long time in India. Recentl
| ‘ P.T.O.
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(2) . K 1205 |

company entered into Joint venture collaboration wiy,
a well known Brilish multinational corporation. Among
the n‘iajor objectives of the joint venture includlcd
technology upgradation and . productivity improvement,
The company was currcntlj estimated to be not only
highly over-manned, but inefficiencies of various kinds

have also been noticed. More than 2,000 employees of

the company are unionized and most of the union leaders
appear to be against the introduction of any change in

‘the technology. .

Questions :

()  As a General Manager, would you suggest Human

Resource Planﬁing at this stage to deal with the

~ problems ?.

(it) What steps should be initiated to ensure the success

of thlS joint venture y 8
“Planning is meaningless without control and cbntrol is
aimless without planning.” EXplain. : = . T

Dnscuss various techmques of control, as may be used

in an mdusl:nal enterpnse 7
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(3) 1205
(F) aﬁﬁmﬂmﬁﬁ%mﬁﬁm?ﬁﬂwﬁmﬁfﬁw.
aﬁrﬁwmaﬂm%lmaﬂﬁ?ﬁrﬁﬁwfﬁ?wﬂ
fafenr sguedln fomy 3 W 32 T
ﬁmﬁm%umma}g@mﬁmﬁﬁrﬁ
aﬂaaflmaﬂtmmaﬁg’mmm%u
a%ﬁ_ﬁqﬁaawwaf%wmmm
@ ¥ Wy o e e # s o 3
ﬁ%lﬁqﬁ%z,moﬁaﬁmw?{ﬁmﬁ
e & sl e o S e 4 fen
TR B W o B e i o E
Ll 1
() TEEEEE B T F T I T G A
YA SRS T gaensl i gesm §
w2 '

() ¥ W S H e A ghie W
% fog FA wew IoR ey ?

(@) “aiR Framr @ amdom sield & ol Friy @ik
AT @ sRygda ¥ e W)

PTO.
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(a)

(b)

()

(@)

@

(4) l?ﬂsl

AT

ﬁwﬁﬁmmﬁmﬁrmwmi,'

“Management is the art of muddling through the |

”

situations.” Comment upon this statement while |

discussing the features of contingency approach. g |

“Management is the effective utilization of human and

material resources to achieve the enterprise’s objectives.” ‘

Comment. - 7 |
‘e, aRftafel & Frererert oo # #: Fen
%l"mmmwwmﬁﬂmﬁmmf
i foRoarstt =+t fae=mn St |

.“Wq,m%sﬁsﬁaﬁmwﬁﬁmqﬁa;
| !

agn Rfies qEreE S guret SET S 317 feoh |
' |
Or
(31
“Each of the managérial func.tipns is an exercise in |

coordination.” Comment on this statement. 8 |
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(5) . - 1205
“Managerial environment in future Is going to be more

challenging, rcqu_iring high degree of professionalization

~ from managers.” Comment. JURY

(F)

(@)

@

®)

(%)

(2) Decentrallsanon

‘TR W QA ydE, g A B S
B 71l quzﬁmvﬁaﬁﬁrql

“ufrsr A geuEt mﬁam arfern ﬂﬂ?ﬁtgﬂf T
w%_ﬁmﬁvmwaﬁﬂmaﬂﬁ%
HATHEIH Hi - STavEwar 17 feoh i)
“Delegation provides the njeané whereby_a ménager '
mix‘ltiplies himself.” Comment. S 8
Write notes on :
1 - Functional Organization R 4
3.

W@aﬂmm%ﬁ@mw

vmas,aggﬁmmam%wﬁmﬁafmn

;- (@)

ﬁ:mrﬁwm

S mffqan‘wm

y: 2 ﬁﬁ'ﬁwl _
| PTO.
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(6) | 12

Or

(31g=n) |
/
(a) . What problems are created by informal groups for t,

organisation ? How should management deal with Such-

groups ? - g
(b) Wrilc'notes .on :

()  Matrix Organisation . 4

(2) Network Structure. ‘ 3

R
Yo w2 @ wE @ W R wm
=feq 7 | B

'({g) feofordf fafem -

Q) ﬂﬁw SUCEI
(2j RCCED m—q'ml |

Write detailed notes on any two :

(@ SWOT :Anal-ysi-s ;

® 'ﬁc& Matrix.

() Strategié Planning.
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TEMENEEREY &

O 1205
frafafeaa 4 4 =l & w afoan feomft fafen
(%) swoT fayermu
(@) BcG Afeag
(1) TEIfaEw  SArEeE |

Or

(3rerem)
(@) What are the features of Decision Support System ?

Differentiate between Decision Support System and

Management Information System. 8

®) “No enterprise can achieve its objectives without
systematic planning.” Do you agree with this statement ?
Also discuss limitations of planning. | 7
(%) frfa uda womeh F Pt Fn ¥ 2 fok
gueft woelt sk wEY gEN wonet ¥ W
(@) ‘@ Wt wem i TR ST % ST R
1 UI e T gehal |” 1 39 T HY J Fend

% 2 amem F del W o fRe SR
| P.TO.
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x Write notes on any three 3xg
(@)  Informal Comm‘unication
()  Managerial Grid ' S
(o) Critical Path Method
(d) Return on lnv_estménl.
Frfofen # @ frd A W fewfoet fofag
(F) SIS F9R
(@) weuw s
(M), wifasw g9 fafy
(°) a9 wW yfawa|
Or
(3rz=)

(@) “Leaders are born and not made.” Comment. 8

(b) “Theory Z is a comprehensive philosophy of

. management.” Elucidate this statement. 1

(@) “Ja1 S 2R %aﬁ_,ﬁaﬁl" ool =it

(@') “faeT z W S R sﬁwaﬁ
e Sifegl

1205 ot 8 8400
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| Your Roll No...............
. No. of Question Paper : 1206 |
sique Paper Code © 22411501
) ame of the Paper . Principles of Marketing
ame of the Course . B.Com. (H) (CBCS)
‘ emester \%
uration : 3 Hours Maximum Marks : 75

Write your Roll No. on the top immediately on receipt of
this question paper.

Attempt all questions.

All parts of a question must be attempted together.

Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

% forg frdm
| WH-T B e & SW Ry T FuiRa T WS Sgws
fofeamw |
asht e HRA |
T B |l S BT SR T A o |

T - 7 7 I S A R R v X AR, wifee T
ST T Az vE € e e |

P.T.O.
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1. (a) What do you understand by marketing? Discuss g

marketing concepts that have guided the marketiy,

decisions. (

(b) Why does a marketing manager need to understay
marketing environment? What are the main elements

the macro-environment affecting marketing decision

Explain briefly. ' (a
|

OR
(a) Explain the concept of marketing mix. As a marketin

manager of airlines company how would you plan th

marke.ting mix? (8

(b) Why is marketing so important in today’s world to th

business firms and to the society? Elaborate. (7

(%) oo 3 o = T § 7 R g Aok @ R ¥
TR Rve wemea = R SR |

(@) faove wes & R Ao g 6 e w8 sEe
Bt @ 7 fawoe fofr @ wafee wor @ geqmata @
T R ¥ G ¥ e i

3rqdar
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() WO B R Fheen N e SR v w5
& R weuw & w Y Ao B we s o 9
T 7

(@) T fwg ¥ araais W sk wwe @ R R w9y
TETAYOT B ? R HNW |

g (a) What are the essentials for an effective segmentation?

Explain geographic and psychographic bases of
segmenting the market. (8)

(b) Does the consumer go through a definitive decision
process while buying a laptop? Give reasons. Also
discuss the various stages of consumer buying decision

| process. (7)
OR

(a) How does the selection of target market and product
positioning assist the marketing manager in making

prudent decisions? | (8)

(b) Why is there a need to study consumer behaviour? What

are the personal and psychological factors which affect

consumer behaviour? (7

P.T.O.
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() o @ B AfEd qem wA A B AR F il
& s iR TG SRl T TR i |

(H)wmaﬁﬁ%ﬁmﬂaﬁmﬁmﬂaﬁﬁﬁamﬁ
[ T & 7 RO A | @ € e e
wirar <0 R sEenal & o BEem #ifn )

AT

(%) W& AR YA IR TG W OWE T RN T
RwaRe fofa o ¥ Rgum weuw # we FE 2 7

(ﬁ)mﬁnwwmaﬂ%aﬁmaﬁ%?
U HEER F TR e A A IR A
FRE HT F B 7

3. (a) Define product. Explain the classification of product
with examples. @

(b) What do you understand by Pricing? Explain cost-base
and demand-based pricing. (7

OR
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(a) “The market today requires setting a systematic new-

product development process”. Discuss. (8)

(b) Discuss various factors that a consumer-goods marketing

firm needs to consider while setting the price. (7)

(%) S== A e AR | SeEer 3 gw SEd B i
TR FHY |

(@) wra-Fuo ¥ s = e ¥ 7 wee amRe sk W
JIRe S Fufor 8 s 69iRm |

JH=2Adr

(F) R I 36 =Efad F9-IwE s w3t enfig w5
W AEEEET B | fEe Fifew

(|) a0 e qHT I - S T R S a6
H o At Frel W AR oo = @ 39 R
i | |
4. (a) Explain the importance of channels of distribution in

marketing of products. What factors affect the choice

of channel of distribution? (8)

P.T.O.
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(b) What is a promotion mix? What promotion mix woulq ¢

you suggest for the following products? (7)
(i) Smart-Phones
(i) Water purifier
OR

(a) “Store-based retailing has assumed considerable/
influence in modern-day marketing.” Discuss the above
statement with reference to various types of store-based

retailers. (8)

(b) What are the challenges faced by the marketer while
marketing goods and services in rural markets? Give

suggestions to overcome these challenges. (7) 4

(%) Il & fquuE 3 oo it A &1 Ae<a 9=y | faaw
WO H T B DT FRE G w7

(@) wadw fast wn B 2 ? FeiRee et @ R s R

(i) = w=

(ii) @Y -IAHR
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| |
Srera

(F) "R MRS Gew =R I snyfrr Ao § w1 g
AT TR 8 17 R wR S R - sme we A
& " ¥ I wuT R e SR

(|) TR SIOR A R R Farel i R e @ R
| T AR & T wEr ge 2 7

5. Attempt any three of the following : (5,5,5)

(1) Integrated marketing communication
(i1) Marketing of Services
(i11)) Online marketing

(iv) Market skimming pricing and penetration pricing
Fefefem & @ =8t <\ =t Ao
(i) wfra fagure @R

(i) d=ral =1 Rgorr

P.T.O.
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; (Write your Roll No.» on the top immediately on'réceipt bf this question paper.)
Note :— ~ Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.' | _ |
feuott : Wm—waﬁrmaﬁﬁﬁ' or fe<t fRelt T o
T dfu; aﬁﬁwﬁaﬂﬁmmm@é@m.
Sl |

Attempt All questions. - -

All questions carry equal marks.

Use of simplé calculator is .allow'ed.

CPTO.
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. (a) “Financial management has expanded in its scope duf{ng .
last few decades.” Discuss and contrast the salient featUres

of the traditional and modern approaches to financiy
management. e | 4

| (b)) The income statement of PQR Ltd. for the current yeg

is as follows :

Particul_a'rs e " Amount ® Amount(?)
" SQales _ L | 4 ‘ A\ l : H7,00,000
Less: COSfS
Materials - | | 2,00,000
Labour - : 2,50,000
- Other Operating costs - 80,000
Depreciation | R, 70,006 |
Total W [ 600,000
Earnings Before Interest and Taxes (EBIT) j : 1,00,000
- Less: Taxes @ 40% ‘ . - Ll 40,000
. , ' ) | L . ‘
Earnings after Tax (EAT) S 60000
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(3 1207
The plant‘. manager proposes to replace an existing
machine by another machine costing ¥ 2,40,000. The new
machine will have 8 years life having no salvage value,
It is estimated that new machine will reduce the Iahour
cost by < 50,000 per year. The old machine wilt realize
< 40,000. Income statement does. not include the

depreciation on old machine(the one that is going to be

rreplaced) as the same had been fully depreciated for tax

_purposes last year though it will s"ti_ll continue to function,

if not replaced, for a few'years more. It is believed that

there will be no change in other expenses and revenues

_of the firm due to this replacement. The company requires

an aﬁer-tax return of 12% The rate of tax appltcable to
company’s income is 30%. Suggest whether the company

should buy the new machme assummg that the company

B follows stralght lme method of deprecnatlon and the same-

=)

.ﬁml &

is allowed for tax purposes - n

ﬁouwuemﬁﬁwwwﬁm- |
gan%ﬁﬁ?ﬁqﬁﬂ'%maﬁwm

ﬁmaﬁtmﬁmﬁﬂﬁw.

P.T.O.
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| (4) o
A
(@)mqaﬁﬁmpoR%ﬁégﬁmm%

| T THER ©
feraron | | e | wﬁTﬁ—\\(?)
: —
forad 7,00,00)
e ;AT
e} | | 2,00,000
o . 2,50,000
| mwmwﬁ T ’_ 80,000
. W : < : 70,000.

Eagi & S . “ - 6,00,000
.vmmaﬂ?mﬁwzﬁﬂmﬁ(mm | 1,00000
WM : m@40% - . - R 5 @000
W%WW(EAT) | TE 60,000

wmwwnﬁr@mﬁq@@ww
ﬂmmm%mﬁaﬁnﬁnmom
IR T IR SIS N —
WWM'@”%%%‘Wﬁ ST
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?50,00031%3&@@3@! 9 e |
T 40,000 WS BN | 3 & o F qret w0
e Wi T ¥, for we ) whenf e
¢ A T W G qesm, wh 329§ fod
WS T T A A A o o w a @
T w6 e 9d @ wfwerf 7 fmw s
TH 91 S © R e wEl # el 3w wfieme
A v % Tora A o B TR w@ 1w

W YEA B AR 12% FRwe S ¥ B o
T A H TR 30% T GEE G BF Ho
ﬁngsﬁq@ﬂﬁar%qm?ﬁ I5 AR %
mwﬁﬁﬁi@ﬁﬁxmmm
%ﬁnﬁm%m@ﬂ%%l

.Or
(3|
(a) “Wealth xﬁaximisatit)n” is only a decision criterion and

not a goal of a firm. Explain. 4 ~

(b)) EFG Technology -Ltd. .is considering a new project for

| TR kit i ing a
manufacturing of solar energy games kit involving

| capital expenditure of T 600 lakh and working capitgl of
e P.TO.
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(6) 1207
7150 lakh. The plant has capacity of annual production
of 12 lakh units and capacity utilisation during 6-years

working life of the project is expected to be as mentioneg

below :

Year Capacity Utilisation (%)
1 | 3333
2 | 66.67
3. ‘ 90

il e R

ST - ioo
6 o

The average pricg per unit of product ‘is expectéd to
be ¥ 200 netting a contribution of 40%. The annual
fixed costs, excluding depreciati;n are éstimated to be
3 480 lakh per annum from the third year onwards for
the first year and second year, it would be 2 240 lakh
and ¥ 360 lakh respectively. Depreciation is charged
@ 33.33% on the basis of wrj‘ttén do.Wn value (WDV)
Wethod. The rate of income tax may be taken as 35%.
ATh‘e cost of capital is 15%.
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(7) 1207
At the end of third year, ah additional investment ofl
¥ 100 lakh would be required for working capital. Teﬁnina]
value of fixed assets (sold as ‘scrap) may be taken as
10% and for the current assets at 100%. Give suggestion

to EFG Technology Ltd. regarding taking up the new
project. S 1

‘o Sfsmmiiee dew frota oR @ frew ®
T A w1 A" e Hifw )

EFG Wit fafiee @R o=t @l ot fre =1
o 3 & fau 7 afEsm | faer == @
% T W 7 600 T Yol e M SR wRi
ISt 7 150 @ F A T 12 @ g @
SR F F e ¥ iR adem & s
W%eaﬁ%ﬁm wmﬂﬂﬁ%mm_
W@%ﬁm% | ~

T | S g (%)
R T 333

S R

4 i SRS

R T

s 1w

P.TO.
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(a)

(6)

. You are

(8) 1207

T A St @ 200 2 A 10 % Forer,
40%%%!%?&@?@@3@@
ﬁm,ﬁﬂ?wﬁmﬁusomuﬁw
@ﬁwm%lmaﬁ@?@ﬁ%m;

%240 W@ 3R % 360 AT BT FHd gog fafy

(WDV) % 3TI¥R W HooIai 33,339 1 a7 for

'Wlmaﬁﬂﬁ%ﬁﬁwm%lw

H T 15% ¥

ﬁﬁﬂim%aﬁaﬁaﬁsﬁaﬁ%m?mo

| O%Wm%@?ﬁqwﬁmloo%

mm%mmﬁhﬁﬁmﬁﬁﬂﬁ%@ﬁﬂém
F W B HEy ﬁ {fsna =iy

What is capital bu_dgeti_ng ?"‘Capital Budgeting decisions

are irreversible.” Do you agree ? Comment., - 4

From the following information provided by MNO Ltd.,

required to calculate the weighted average cost
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(9) 1207 .
of capital (k,) using Market Value Wcights."l'hc present

.book value capital structure of MNO Ltd. is °

(Amount in )

Debentures (X 100 per. debenture) 10,00,000
Preference Shares (¥ 100 per share) | 5,00,000

- Equity Shares .lO per share) g 20,00,000
Retained Earnings | S 500,000

"40,00,000

All these seCuri_tieS -ére tfad_ed in- the . capital fnarkets.
Recent prices are : debentures @ X 110, preference shares
@3 120 and eq_uityAshalres"@ 3 22. Anticipafed external
financing _opportunities; are : - ‘
| (H . T 100 per 'de'bentures'redéenia.ljlél.-ei.t par : 20-year
_ matilrity, 8% coupon rate, 4% floating costs, sale
»priée % 100. : |
(ii). Z 100 p.réfer'ence' shares 'r_edeer-ngble at par : 15-year
matu'rity, Ib% aivfdend rate, 5% ﬂbating costs, sale
| price ¥ 100.

(#ii) | Equity Shares T 2 per share floating costs, sale

price ¥ 22.
5 RTO
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In addition, the dividend expected on the equity share
at thé end of tile year is ¥ 2 per share; the anticipateq

~ growth rate in dividends is 5% gnd the cdmpany has the
~ practice of paying all its earnings in the form of dividends,

- The corporate tax rate is-30%. e 11

(m)“w"rmwz‘m% ? St asted fofy
eﬂc—ﬂvﬁu@ﬂ%l"wmm% ? oo
aﬁﬁm

(@)ﬁﬁ%@ﬁwmoﬁﬁé‘émﬁﬂs‘%l
wwmmmmwﬁﬁwﬁaaﬁw
W(anﬁwam%l MNofaﬁéts'ﬁ

o (Tfyr T W)
fed=R (2 100 ¥t fedmm) 10,00,000
WWW (2 100 WﬁTW) o 500000
g PR (2 10 W 9R) 2000000
Wt sttt | 50000 |

™
40,0000
———-—'/-
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(11) | 1207
= i Wi @ g am s g ¥
maﬂﬂﬁﬁ%:m?lloa”rﬁ@,
ﬂﬁlﬂﬁﬁﬂﬁuoﬁ-ﬁﬁﬁiiﬁﬁﬁ%?&
ﬁﬁﬁlmaﬁqﬁ?ﬁﬂmé%:
0 W e WA AW 00 W feE ;o
| 2o'aﬁqﬁq€r'a?n, 8%'@?31, 4%_?211??{'@1713,_ -

.'ﬁmﬁnﬁ%lool |
(if) mwmgﬁéﬂ?looa@aﬁmﬁw .

',.15315?141’{‘5133?11 10%?'1?%213? S%Wmﬁ |

ﬁwaﬂt{azlom |

e éﬁaaw naﬁ:ﬁmwwﬁ o
ﬁﬂﬁizzl
m@aﬁﬁﬁaﬁ%mﬁéﬁaﬁﬂaﬂmwmﬂ
?2%Wﬁaﬁﬂﬂm%uwmﬁaﬁwﬁm
,%IﬁsaIS%%a?r{m‘ﬁ%W@%ﬁ
ggaﬁﬁl’-ﬂ s e & w9 A € e

T 30% T
- g P.T.O.
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Or ‘
(3191€)

(@) Compare Net Present Value (NPV) with Profitability Inde
(PI) method of evaluating a capital budgeting proposal,

Which one is better and why ? . 4

| (b)  There are two firms A Ltd. and B Ltd. which are identica]
in all respects except in terms of their capital structure

“as can be observed from the details given below :

|  Particulars f £5% ALd. [~ BLtd.
EBIT 21,00,000 .3 1,00,000
10% _Debentures | ?.S,OHQ,OOO'- | Pt
ke ' B o L 125%

‘)Calcu-late 'the ve.llue'of 'th‘c two firms. and illustrate using

MM approach how 'aﬁ -i.nye.stor holding 10% shares of

A Ltd.will be benefited by sﬁitching over his investment

| from'.A Ltd. to B Ltd. When will the arbitrage process

come- to an end ? 7 | A Il

(%) 5ft a1t s o e ey i, Frerer s

T (NPV) ST e eenics (pr) fafy @ e
FIf | AR fafe dem ¥ ek w2
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| (13) | 1207

(@) A fafirs sik nfi-vrﬁqéga‘ﬁﬁ‘éﬁﬁmﬂm

A T § B T e § s d
fF & aweel & v am

Fawor | affes | R
EB-IT ‘ | Z1,00,000 ‘ ~71,00,000
16%1%3?11 3 7500000 |  —

k, s . | 6% 125%

1 WA e A A R 0 '
Y @ e P ﬁéxqmﬁ—as;gﬁfrqéaf

2 o s & A T fr s T A
@ What do you mean by Agency Problem ? How can this

be resolved ? 4

P.T.O.
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(b) The following is the selected financial information for the 7

- year ended 31st M'arch, 2016 for two companies : X Ltd,

and Y Ltd. :

Particulars X Ltd. Y Ltd. ,
Variable cost as Percentége of Sales ' 66.67 " 5
Interest Expense ®) 206 : 300
Degree of Operating. LeVerage :5- | 6_
Dt.z'gree of Finan.'cia] lév’erag_ei | -3  . 4 
Incbrﬁ,e ta'xl rate 35%

35% -

- Prepare I:ncome.Statement of both companies and also

comment on their risk position.

11

(W) @T@ﬁm@mwm% ? g

%ﬁmwm%v
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W3l,qﬁ,2016ﬁm@aﬁf%ﬁ%'

g Frefafen § -
feraaT | xfafids | yfafiee
ﬁﬁﬁmamﬁmm 66.67 75
= S T ) | ~.200 ." 300 |
e it 0 jaL,
P el o Fost ; .
mﬁa 35% 35% A.

ﬁmqﬁa‘raﬁwqﬁmmm%maﬁﬁqai’ﬂ
wﬁsﬁf*@q@ﬁwﬁmﬁﬁmn

o

.

(b) -Why 15 cons:deratlon of the tlme value of money

important in financial decmon makmg ? How can time be

,adjusted 9

4

PTO
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(b) . From the information given below, determine the

value of two firms (A Ltd. and B Ltd.) belonging 1, /

homogeneous risk class except in terms of capital structure

under (/) Net Income approach and (i) Net Operating

Income. approach =

Details

"ALd. | BLtd

Earnings beforé interest and tax (EBIT)

Interest (0.15)
" Equity Capitalisation Rate

Tax rate

22,25,000 | ¥2,25,000

| 75000 | =

020

035

1

(W)ﬁ?ﬁﬂﬁvhﬁ%ﬁﬂﬁ%wwmﬁaﬂ

ﬁmw%?mwmﬁm

Gﬂﬂaﬁm%a
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1207

<@>ﬁﬁ"§1maﬂmﬁrmﬁmﬁmg
T N HH B g Freifa wif s s
sifem =i & st & daw () Frw oren
- 3R i) Pt e St sunT o st s HE

: of d|v1dends

® BSH
?T‘mﬂ'@‘ Afafids | Bfafins
1S 3R L GHM 9 T8t ™ (EBIT_) | 225,000 ?_2,25,000
. W(O.IS) 175000 | —
$ferordt oo 020
R | 035
4. (a) | Dis‘cuss' the Modiglfaﬁi and Millel_'- ap'proéch' of jrrelevance

4 -

" (b) The fo]lowmg 1nf0rmat|0n is collected from the current

year annual report of JKL Ltd._ :

Eamingsof ﬁmj
Number of equity shares.

Return on investment

Cost of Equity

T 18 lakh
3,00,000
22.5%

15%
P.T.O.
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(@)

" under this model 2

(18) | v
What shoUld be the dividend payout ratio so as to keep
the share price at T 42 by using Walter Model ? Also,

determine the optimum dividend payout ratio and the
market price of shares at the optimum dividend payout

B

ratio. What will the maximum and minimum share price

11
wmﬁﬁﬁﬁﬁmﬁﬁnﬁmmaﬁm
aﬁﬁéamﬁml |

JKLmﬁmﬁﬁWﬁéﬂm

.-wﬁwﬁ#@a% |
Wfﬁarrrqaﬁq‘f 5 iz
éﬁaﬂmaﬁm 300000 ¢
ﬁﬁm'm UL 2%
Wﬁm 1%

i S s A e e
WWWWWﬁm:ctzI%?

'ﬁmaﬂ““wﬁwmwﬁw |

Scanned with CamScalnner



(19) 1207

Or
(3reram)

(@)  What is “informationa] contents” of dividend payment ?

Enumerate the main determinants of dividend policy of

the firm. ; _ 4

(b) X Ltd. beiongs to a risk class for which appropriate
capitalisation rate is ]0% It currently has outstandmg
75000 shares se]lmg at ? 100 each. The firm is
contemplatmg the declaratlon of d1v1dend of ? 5 per share
at the end of the current ﬁnancnal year. The company
'expects to have a net mcome of ¥ 2.5 lakh and has a

proposa] for makmg new mvestments of 3 5 lakh.

Show that under MM assumptlon the payment of d1v1dend

does not affect the value of the f' irm. Do you thmk MM

mode] is reallstlc thh respect to va]uatlon ? 11

(E)meﬁﬁwmﬁwww@ﬁ%7

tﬁdﬁwwfrﬁf%g@ﬁﬂhﬁmaﬂfa
() x ffire vq wfen W § om ¥ frd g
W@mam%%m%wwwm

PTO
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Co(20) Ly
W?looﬁﬁmﬁaﬁzs,oooﬁm'm%wﬁ
‘mq'ﬁﬁaﬁaﬁwﬁﬁesqﬁﬁmm%
g T A TE W R FE O 225 T
1 ST B F oTm ¥ Sl T ¢ s e @

mﬁéﬂmﬁmma‘%l.'

wef¥fa HIC foF MM ST & ST T )
STt &1 FH % Ted T AW T ued ¥ 1 s

o & Jigfqichd%{-lq%ﬂ?r MMW?&TW
| .% %

Explain the Miller-Orr model of cash-management. 4

GHI Limited is considering making its present credit
policy a bit strict ‘'The company has current annual sales

of 7 60, 00, 000 and it is expected that implementation of

- the proposed credlt pollcy would decrease the annual sales
- to 3 48,00, 000 The average collectlon perlod would
' decrease from 60 days to 45 days The sale pnce of the

7 product’ is ? 40 and the variable cost mvolved m

manufacturmg of a product is ¥ 30. On the volume of '

1,50,000 units, the average cost is ¥ 34. Assume a year

| comprises of 360 days. Give advice whether the proposed

strict credit policy shall be implemented if the firm's required

rate of return is 25%. | " 1
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(ﬁ)ﬁé@uﬁﬂ%ﬁm—mﬁmﬁmaﬁﬁml

(|) cm%ﬁq‘égmaﬁqmmﬁﬁﬁ@m

WWWW@%IW#WW

_ﬁﬁ?sogoo,ooo%aﬂtﬁﬁm%%mﬁaﬁsz
Hifa il fouE w3 w Brrﬁfm farsht 7 48,00,000

T TG ST aﬂmmaﬁﬁxso &7 & weaw
45 fq I?Tvn'qfﬁl wﬁﬁmm T40 % -
aﬂw?ﬂﬁﬁwﬁ@mﬁmwﬁaﬁwno'
%laﬁmﬁ 1sooooqﬁémﬁtﬁmaﬂ%w

V aﬂmwnmmﬁ%lmvﬁﬁfq%@aﬁ

ﬁ360ﬁ?@ﬁ%lwﬁﬁmﬁmm'
ﬁﬁzﬁﬁmﬁwmmmm"ﬁqﬁﬁ

. # s v R -zs%ﬁh

(a)

| 'Or»
(3rere)
Briefly éxplain the Economic Order Quzmtity (EOQ) model
of inventory management. l 4
| P.T.O.
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(22) 1207
(b) The fol'lowing information is extracted. from last year'g

Annual accounts of ABC Ltd. :

Details Amount per Unit (?)“\
Raw Material cost 100 -
Direct labou'r cost 37.50
Overheads\cost 75
 Total cost ; | 21250 -
L Proft, oo | 37s0 |
. sglling Price " 3 , 250 |

The gompany kgeps‘ faw maiérial m stock on én average

~ for four- weéks,..w.on"k‘-_in-progréss in stock on-an average
for one week and finished goo'dsin. stock on an average
for two weeks. The credit allowed by suppliers is three
weeks and company allows four weeks credit to itS
debtors. The lag in payment of Wages is one week and
lag in payment bf overhead expense§ is two weeks. Th@
compapysells one-fifth of ‘its output against caéh and
maintains qash in h;'md and at bank balance put togeth¢! |

at ¥ 37,500.
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(23) 1207

You are required to prepare an estimate of working

capital needed to finance an activity level of 1,30,000 units '
’ ’

of production. Assume that product‘ion is carried’ on
evenly throughout the year and overheads and wages-

accrue similarly, Work-m “progress stock is 80% completed

in all respects. 11

ﬁm"{iﬁwﬂ%aﬂfﬁmmwmomm
i H??m q e i)

ABC%&%@%ﬁﬁaﬁﬁaﬁE@@%ﬁﬂﬁF@a
o e = ¥

qaed | afer wfw !{Fﬁ @
_Eh_téﬂ e w100
ma{emwm as
Sfem @ |

HA AT : ._ "2'12.5()_

o . 3750
T“TW::?:H'b:{?rr 250

T s 4 e B forg e W

Tt g mmma@wwm‘w

P.T.O.
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(24) 1207
gmmm%aﬂtﬁmwwmm
amé‘mw%lmm?ﬁ?w
mg@gﬁmam%aﬁ(ﬁmmﬁ
4 e B A ¥ AR SRR §
>0 TF TaE F § IR IUTE TH F e
# 3 g F 0 T FUA AT I FT G
sy s St ¥ IR Jwe wE H S SF 3

3w fFeleRT T 37,500 5 wT ¥

3R 130000'2,_(%??%3?113"{%”[.’11%’%!{3%@
g ey wm%maﬁﬁaiﬁﬁﬁﬁqﬂ

'-Wm%lmmaﬁ%wﬁvﬁw

WW@WW@%@TW.HQTHW~

T R S gt ¥ a:r&wﬁrmarﬁw

ﬁmnﬁmﬁso%w'@ﬂw%l_

4 E 8,4(1) i
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This question paper contains 4 printed pages]

Roll No.

S. No. of Question Paper : . 802

Unique Paper Code + 22415102 ' : 1
Name of the Paper . Insuranceand Risk Management
Name of -the Course : _Generic Elective For Honours -:
i | Commer;:e
Semester ‘ I
Duration : 3 Hours | o : .- Maximun; Marks : 75 |

(Write your Roll No. on the top immediately on receipt of this question paper.)
Note — Answers may be written either in English or in Hindi;
but the same medium should be used tl?roughout the

paper.
fewmuit : mm—qﬁmmaﬂfﬁm%ﬁmww

3 Afg Afe Wt S w oW T A
- =ifeul

Attempt All questions.
All questions carry equal marks

[t 9w sife) -
mﬁqﬁr%ww%y

L béﬁne Risk 9 Explain the various steps mvolved in risk

management process. 15

@@qﬁqﬁwﬁﬁﬁlﬂ@qwmmﬁ
_-mﬁfw,maﬁmaﬁﬁm

P.TO.
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( 2 )

Ay
()r/(awal)'
Differentiate between the following ty‘pcs of risk -
(@) Pure Vs. Speculative
(b) .‘Su'bjective Vs. Objective
(c) Static Vs. Dynamic. 31

Sfem ﬁc{ﬁﬂ‘@am H aamzranga
(%) IS &AM FI
~(@)ﬁﬂ'ﬂﬁﬁmm

(M) Wfds S I | |

How is lndian insurance sector globalizing ? What are the

benefits of globalizatiori‘for emerging market economies ? 15

‘Wmmwmm%ﬁﬁm@m

or/(3tera)
Explain the 'objectives"of IRDA Act, 1999. What are the powers

duties and ﬁqncgions of the authority under the Act ? I

“ o V-IRDA alfﬂﬁ!m 1999 $ R w1 e FisAl ®

| "aﬁxﬁma‘:wfammmﬁmﬁm oy A
‘q'ﬂ?iazn%')
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« 3 ) 802

-3 De'ﬁne the term Re-insurance. What is the rationale for it ?

How is it diﬁ'erent from co-insuﬁmce ? 55,5
V.Wwﬁﬁmﬂmlw@ﬁqwﬁ
fer T ¥ ? uw weswm @ fEE yeR e
T ?

Or/(37N)

What do you mean by assignment ? Discuss various types

of assignment. How. is it different from nomination ? 555

Fﬂﬁ%‘mﬁmwm%7ﬁﬁmma‘:
Wﬁﬁﬁéﬁﬂﬁﬁﬁlmﬁﬂzm
yeR = & 2 ~

4.  What is marine insurance ? Enumerate the various types of

marine insurance policies. Briefly describe the different clauses

under marine insurahce. ‘ - 15
e b own da ¥ ? fafe vER W Aae

o1 Wit F1 Seor F | e i S 3t

fafirr umisl w1 @@ #§ avi HifE

Or/(31qdl)

Highlight the scope of Fire Insurance and general exclusio-ns
of a standard fire policy. | ' BT
A dm 3R AFE S vﬁ"fﬁi WM STIESH
?=b=l e FifsA |

P.TO.
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. Write 'short notes on : T4y,

(@) Health insurance policies

b). Principies of indemnity and Insurable Interest.

(@) Hﬁﬂ{ﬁ iR «ida fea & ﬁrgml
Or/(alﬂal)
- (aj) Motor msurance pohcnes

(b)) Doctrine of Contribution and Subrogation.
(%) AR S gt , |
(@) dreE IR yoeA @ fasidl
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[This question paper contains 6 printed pages.]

4 Your Roll No..vovvevenrenn.
sr. No. of Question Paper: 1211 I
Unique Paper Code . 22413301
Name of the Paper . E-Commerce
Name of the Course : B.Com. (Homs.) SEC
}Semester | 2 LY
Duration : 3 Hours 'Maximum Marks : 75

Instructions for Candidates

1.

?E & forg Fdw

ko,

=

Write your Roll No. on the top immediately on receipt of
this question paper.

All questions are compulsory.

Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

WA~ & e § SR Ry W FriRe e w) s s
foriaw 1

ot we sfad 7

T8 W - T 1 ST ST A RS Rl v o F SR, A as
B’?r%faqu%ﬁﬁrtﬁmw%m

P.T.O.
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{. (a) What is ecommerce? Is ecommerce a broader copg 4

of e-business? (

(b) Differentiate between Brick & Mortar business mod

and Pure On-line business model? (
OR

(a) Explain the different layers of ISO/OSI reference mode

of internet protocols. :‘

(b) Explain the life cycle approach of website developmef
(]

(3r) E-=iad M 2?7 T AT T-EEd & AvE R
FEUROT ® 7

(¥) g T IR SAET TEEE A A Wwﬂm
Jreran

(31) ISG/OSI%WE Aerdied & Wﬁtﬁ%ﬁﬂ?ﬁm
g ¥ IR T |

(@) d=ErEe fwm & Womw g9 w1 au S |

2. (a) What kinds of basic securities are required over th

internet?
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> . . .
(b) What is hacking? Explain different kinds of hackers.
| (7)

OR
Write short note (any 3): (5%3=15)

(a) Sniffing
‘) (b) Spoofing
(¢) Cyber-vandalism

(d) Phishing

(%) T & forg == S vivfadl B s T ¥ 7

(@) 2fFT (Hacking) =1 2 ? %"ﬂ'{' (Hackers) & faftw=r yerr
\ N qUT HT |

et
el W oy Rewfort fofed
(%) =R (Sniffing)
(%) &7 (Spoofing)

y  (¥) wmw s

(3) R (Phising).

P.T.O.

Scanned with CamScanner )



1211 4

3. (a) What are the various properties of money transfe;f
that are being addressed by the ACID test and ICES

test? ‘ (10)
(b) Write a short note on e-wallet. (5-)3
OR ”

(a) What is e-money? What are the different kinds ofe.;
money? (10)%

]

(b) What is payment gateway? (j}

() BfmT JR @ TE EEERE S@ @ ACID WEW i
ICES vderor =1 & 7

(@) ¥-30c (E-wallet) W T &Y ﬁwu‘i’r o
Jrerar

(1) E-wEm w2 ? S-vm @ A weR ww ¥ 7

(@) WFeF (gateway) w1 B ?

4. (a) Explain the ¢oncept of Online Career Services. Wha
are the merits and demerits for employers as well &

job seekers? (10)
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| . ..
: (b) How many Kinds of links are there in HIMI.? Explain

with appropriate examples. (5)

OR

(a) “Online shopping has become more popular now a days.
Comment. What are the pros or cons of online
transactions? (10)

(b) What is nested list in HTML? Prepare a nested list for
a book shop. (5)

(3r) SiremEe SegrT e @ Al i 1 P s =
R @ g T SR AW @ ¥ 7

() HTML ¥ Rt aa = & ? Sugeh Jee aied wwensd |

‘ Jrerar

(8) HTML ¥ wits g @ # 7 g gee (Book Shop) =
frg enftar g @Ed |

ain the various legal

(a) What is electronic signature? Expl (8)
ire. *

~ provisions regarding electronic signati

pP.T.O.
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(b) Discuss various threats in on-line business mode|

OR

(a) Briefly Explain the various provisions regarding ]eg;

recognition and retention of electronic records, T

(b) What are the objectives of Information Technology 44

20007

(a)ﬁa@ﬁmmmw%?aﬁﬁﬁﬁﬁmm%
FER W A SR |

(@) %-WWW%WWWWW{
JT2ran

() T el & A e S WITURT & R
WEUHl T GUH HiRY |

(¥) IT sfefvz=, 2000, & (e 3w = 2 7
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This question paper contains 16 printed pages.

) « ' Your Roll No.
51 No. of Ques. Paper: 1216

Unique Paper Code ~ : 22417501

Name of Paper : Management Accounting
Name of Course : B.Com. (Homs.) : DSE - 1
Semester 1V |

Duration +'3 hours

Maximum Marks ~ :175

...........................
.......

(Write your Roll No. on the top immédiately
on receipt of this question paper.)

¥ V-9 & faad & W R M fraffa
' mw‘mmmﬁaﬁr)

NoTE:— Answers may be written either in Englzsh or in
Hindi; but the same medzum should be used
throughout the paper.

)fzmﬁ swmwamaﬁﬁmfs—*ﬁﬁﬁw
| wﬁa?méfmwﬂ?mwmwwﬁ

gHT FMET 1

All questions are compulsory. Each question
carries 15 marks. Marks of sub parts are
given at the end of each question.
| a3t yv7 sifrard &1 y@F 7T 15
R oF &1 &1 9T & IT9M &
- qF z-'mﬁ e ’72} g1

L (a) What is meant by cost conlrol and cost reduction?
| P.T. O.
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ama Grsam an e AT T a4
&
(b) If margin of safety is Rs. 2,40,000 (407 of sales)
and P/V ratio is 30% of AB Ltd, calculate its (i) .

break-even sales and (ii) amount pf profit on sale;
of Rs. 9 lakhs. "

afz AB fafiRz # @ @ 2,40,000 7 |
(fesra 1 40%) 3 P/V U@ 30% 2, A1 T
(i) wu-fasde fama @@l (i) 9 @@ 7o % famm
W I & AT & TUAT ST | 5 |
(c) X Ltd has earned a contribution of Rs. 2,00,000

and net profit of Rs. 1,50,000 on sales of Rs. |
8,00,000. What is its margin of safety? :

X fafide ¥ 8,00,000 Fo & faskg W 1,50,000 o
‘& fqae AW 991 2,00,000 Fo N FMIEH FHET

IqH T Hr ;R ? 5
Or (3r4an) ,,
(a) Define Management Accounting and explain s
objectives.
YRy d@id W uftwifva wifaw qw 311%
LYY AT | 5

(b) In what respects is  Cost Accounting different
from Management Accounting? :

@ Al G el 1 vaata daiE ¥
fa=1 €7 ]
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+  (c) The ratio of variablé cost to sales is 70%. The
break-even point occurs at 60% of the capacity
" sales. Find the capacity sales when fixed costs are

Rs. 90,000. Also compute profit at 75% of the
capacity sales.

@ﬁqaﬁiqﬁﬁmﬁammmm%%l
w-foede fag aman foRt & 60% W emar 2
gl fosht fremfee st fer @ 90,000 %o 2

) At fosht & 75% W W @ et 5

2. (a) Differentiate between Product cost and Period
cost. i

SIS T I SEfy v F A H 5

(b) In a factory, 100 workers are engaged and average
rate of wages is Rs. 5 per hour. Standard working
hours per week.are 40 hours, standard output is

) 10 units per hour. During a week in February,
wages were paid for 50 workers @ Rs. 5 per hour,
10 workers @ Rs. 7 per hour and 40 workers @
Rs. 8 per hour. Actual output was 300 units. The
factory did not work for 5 hours due to breakdown

in the machinery.

Calculate labour cost variance, labour efficiency
variance and idle time variance.

TF Hr@n § 100 SHAR wEw § au a9gd @
st @ 5 Fo wfa v ¥ | WG A AL S
SR 40 § wen W SEIEA 10 g N S R

 wEd % o g H wwed @ w50
o bfl e P.T.O.
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bl @ 5 o P HE, 10 FHEE F 7 4
afi w1 qun 40 FAwIEl H 8 Fo WA w3
mWIWﬁEWBOOWW'W
2 qong ¥ H0 HREM # 5 6w A gay,

s ST o, o qeran faerur it ffera gy
faator &t T ST | o 10

1216

Or (31ga)

(a) Distinguish between Standard costing anq
Budgetary control.

mmammﬁﬁmﬁwmu 5

(b) A company currently manufactures 9600 units per
month of its only product and sells them at Rs.
120 per unit. Recently it agreed to a union

. demand for 15% increase in wages with effect

" from next month. This will also increase the
variable overheads accordingly.

The details of current cost of production are as

follows:
Cost per Unit (Rs.)
Direct Material 50
Direct Labour 20
Variable Overheads
(100% of Direct Labour) <4

The company is considering the following strate-
gies to neutralize the increase in cost with a vic¥
to maintaining profit at current leve]:
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(i) Raise production and sales suitably without
changing the selling price. How much should

the sales be to maintain the same level of
profit?

(i) Raise the selling price suitably, but maintain
: production and sales at current level. To
" attract dealers, increase the sales com-
mission. The variable selling overheads

increase by Rs. 4 per unit. Suggest a suitable
price to maintain the same level of profit.

T & 3 TH aiell S SIS ST 9600
R4l WA AR H AR & @ 8 Rk 3% 120
To Wid $IE W od W 8 | & & H I 9 HW
& AT H A T WA HEY ¥ YR W A9l
¥ 15% ® gfg o 1 3E8 TREd suRema s
ICTAR dg S | '

'mﬁﬁaﬁmmmmﬁﬁ'%z

N Wi 3T
| (%)
| 50
To AN 20
pror e ,
qfigd=yie 3UHeAd (FAd M 20
H 10%) |

mﬂﬁaﬁqlqm“'m@ﬁwa;{:‘
¥ gfg = yurada &0 % fag el feE

ol 0 foar p.T.O.
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() fama qea @ dfErda G m%q;
rmaamgamﬁmlmqaimi
=ife ? |
iy foma Fad H IOGFE T H AGEN g
Ieare o fasht 1 FdHF WO FAT T
fashar &l fasht HATYA GGTRL AT T
yftadeie faswa 3ultead d 4 %o 3fa 7z
1 gfe | A9 B "R FE @A F T I’
qﬁqag-gr;'m , 10

1216

3. A paint manufacturing cbmpany manufactures
2,00,000 p.a. medium sized tins of Spray-Lac paints

when working at normal capacity. It incurs the
following cost per unit:. ‘

Particulars - Rs.
Direct Materials ' - 7-80
Direct Labour . 2-10
Variable Overhead 2-50
Fixed Overhead 4.00
Total Product Cost per Unit : 16-50

Each unit of the product is sold for Rs. 21 with
variable selling and administrative expenses of 60 pais?
per tin. During the next quarter only 10,000 units ca?
be produced and sold. Management plans to shut dow?

the plant estimating that the fixed manufacturing cos!
can be reduced to Rs, 74,000 for the quarter.

When the plant is Operating the Fixed Overheads 8¢
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incurred” at a uniform rate throughout the year.

Additional costs of plant shut down for the quarter are
" estimated at Rs. 14,000. | |

You are required:

(a) To express your opinion, along with the
calculations, as to whether the plant should be
shut down during the quarter.

(b) To calculate the shut down point for the quarter
in units of products (i.e., in terms of number of

tins). _ _
A §HA W HH Hd g T T2 Fmih et
B-d% U= F HEH FEHR F (& &1 IAeT 2,00,000
fo Wi af @t 8 1 98 Fr anr Sfa g o H
%: ' -

faetur _ Yo
syeel A ‘ AL
—— : 2.10
ufadite TR 29
|fer St | +00
3 IR B I T i 16.50

Iqe @ 21 ®o yfq g @ 9T ST U
Wmawmﬁmmm&ﬁqﬁm
§ srrelt o 7 ford 10,000 T T A A M
,mélwaﬁmmﬁzﬁﬁmﬁé
Rmm@ﬁﬁmmm,ﬁu@é‘s

P.T.O.
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mwméﬂfwﬁm@aﬁwﬂqﬁ
wﬁ%élﬁrﬂrﬁé’mmﬁaﬁmmw
stfafes T Sl STAT 14,000 ¥o ¢ | ;;
IR SATAHAT & » |
() ot fER [ W, ToEe & Y, fh f%mraq

FREM & T FEAT A6 AT Tl :;
(i) AT FA B F IO H Rl F fewe g
Mﬁmmmﬁ%(mﬁﬁﬁﬁaﬁmr_
a‘aﬂ_m()l | 15-:
Or‘(aAW‘l‘aT) |

1216

A company at present is working at 90% capacity and |
producing 13,500 units per year. It operates a flexible |
budgetary control system. The following figures are |
obtained from its budget:

Capacity oo 100%

Sales 15,00,000  |16,00,000
Fixed expenses -~ [3,00,500 13,00,500
Variable expenses 1,45,000 1,49,500
Semi-fixed expenses 197,500 . 1,00,400 1 ..
Units manufactured 13,500 15,000 j 5

Labor and material cost Per unit is constant under |

present conditions. PI‘Oflt margin is 10% of sales at
90% capacity.

(2) You are required to determine the differential |

cost of producing 1500 units by increasing capacity |
to 100%. . ;
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(b) What price would yoy recommend for export of
thc':se 1500 units, taking into account that overseas
PTICES are much lower than the indigenous prices?

@mﬂmﬁlﬁm%%mmmm@
aq‘ﬁls,soosa:riﬁa;rmmtﬁ%"na‘a
MMMWaﬁmmér

3 992 QA FeT st firery @
gaar 90%  |100%
EER] | ~ [15,00,000  [16,00,000
fersm  [3,00,500 3,00,500
TfEdasita =19 1,45000  |1,49.500
3u-for = 97,500 | 1,():0,400
faffa Twat 13,500  [15,000

-3 o SR M = adum wRfefEl § fer
21 90% &Hdl W T T R & 10% 2

(a) S9H &HAT F 100% qF TG 1500 IHE &
STRA FA % AT <R (Differential) @ F
frefeor s @ |

(b) T% = ¥ TEY gU 5 fRw A @R e
q FE FHA § AT 1500 IHEAT F Fraig &
fau ferg iad & fa®IfE e =g ? 15

4. (a) What is meant by break-even analysis? Write the
assumptions of bréak-ceven chart.

P.T.O.
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e fireye AT @ ST 327 wFray ',
ad F Arard F T2 | 5 4

(b) A company has a plant capamty of 19,800 machine §
hours. The plant can produce either product A or ]
product B or a mixiure of the two products The
following relevant information is given:

1216

Particulars Product A
Selling Price per Unit Rs. 45
Variable Cost per Unit Rs. 30
Machine hours per Unit ~ 5hrs.
Particulars Product B
Selling Price per Unit Rs. 30
Variable Cost per Unit Rs. 18
Machine hours per Unit 3 hrs.

Market conditions are such that not more than '
5,000 units of A and 4,000 units of B can be sold
in a year. Fixed costs are Rs. 60,000.

Calculate the product mix that will maximize the
net income and find that maximum income.

TH FEA H WIS @ 19,800 WA w0 Bl
HIYT IAE A UET IAE B 3yal A IAEE A
fagor @ WAt R0 Freafafed et gE

fersear e Wi gentd Rs. 45
gfiEad=eie @mma 9fd g Rs. 30
e "2 ufa geRre "~ Shrs ‘3
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i 3 B
fasha e wfa genrg | Rs. 30
IREdTYie @O ufd gFE Rs. 18
‘“’ﬁ"‘i‘%?ﬁfmﬁ 3 hrs

SR aifeufaar Ut @ f5 w ad 4 A =1 5000
Al S B W 4000 THEA ¥ s T8 A=
S Tt § | R @re 60,000 Fo §

T SARE s BT o B g & by
R R W aifuchaw o & o | 10

Or (1)

(a) What are the different methods for the measure-
ment of Divisional performance?

ﬁwhmhﬁmﬁaﬁﬁfmﬁfwwﬁ

- (b) XY Ltd has prepared the following sales budget
for the first six months of the financial year

2016-17:

Sales Bﬁdget
Month Units
April 54,000
May | 78,000
June 61,000
July 52,000
Augusl 40,000

Inventory of the finished goods at the end of
every month is to be equal 10 25% of salcs
P.T.O.
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estimate of the next month. On 1st April, 29,

there were 13,500 units of the product at hand,

There is no work in progress at the end of any |
month. ‘
Every unit of the product requires two types of
material input in the following quantities: |

Material A 5 kg
Material B 6 kg

Material equal to 50% of the requirement of the |
. next moath’s production is to be in hand at the
~end of every month. |

This requirement was adequately met on 1st April
2016.
_ Prepare the followihg budgets for the first quarter
- of the financial year 2016-17: »
(1) Quantitative Production Budget
(i) Material Purchase Budget (Quantitative).

fedta a¥ 2016-17 & om0 6 weHl & foaw XY
fdo I fr fasra s dOr fFan

fasmg o=
e 54,000
H

78,000
A 61,000
I E | 52.000

W 40,000
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AU WS W wegs wAw ww ¥ s o s
wE & [ o ¥ 2505 ¥ awar arft wfew

1 IS, 2016 9 I Ay 13500 AT 7 A
oi |

ferdlt ot W o o & woifa wx @ & 2

maﬁmmﬁﬁmaﬁmaxm
& = o= ® saygEan &

WUl A 5 kg
HHUt B 6 kg

“mm%mﬁm@rm%mﬂﬁ
IEYTFHAT St 50% Tdt g1 § Bt =ifed |

1 3, 2016 S ¥ AEYIHA W@ 9 § Ol
& TR ot

facftg o 2016-17 &t ¥uq fauE & faa =
T2 IR ST

(i) T I F1E
(i) QU Ha FeE (AT §q92) |

5. (a) Draw up a flexible budget for overhead expenses
on the following data at 80% capacity leycl and
determine the overhead rates at 70%, 80% and
90% plant capacity levels:

Variable overhead:
‘ P. T. O.
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14

Indirect labour R5'12,0()0‘
Indirect material Rs. 4’000?

Semi-Variable overhead: |
Power (30% fixed, 70% variable) Rs. 20 000‘

Repair (60% fixed, 40% variable) Rs. 20

Fixed overhead: |
Depreciation A Rs. 11,000

Insurance : Rs. 3,000
Others . ~ Rs. 10,00

Total overheads ' Rs. 62,000
Estimated direct labour hours 1,24,000 haurs.j
80% &Fal TR W Frafafed siEsl ¥ oun §
Suftea & AU SR oo a9ST a8t 70%, 809
IR 90% HIH &M WA W IUR <Y I} T
FifaT | '

- Qg W . Rs. 12,000
SR |t R Rs. 4,000
- gftadreiter 3uR i

AR (30% R, 70% wfEd=sitenRs, 20,000
W‘ﬁf (60% feem, 40% wﬁaﬁwﬁa) Rs. 2,000

E % Rs. 11 ,000 :
sty Rs. 3,000
i Rs. 10,000

i
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T Su=y * Rs. 62,000
ATA ey w5y o - 1,24,000 hours
10

(b) Calculate from the following f_i;r;ures:
(1) Efficiency ratio
(i) Activity ratio
(i1) Capacity ratio:

Budgeted Production - 880 units
Standard hours per unit 10
Actual Production 750 units
Actual Working hours 6,000
frefafea sifewst &
(i) o<t U
(i) Wfafafa U@
(i) &HAT STIUT
- frefad: |
SO SARA S0
uHeE e ufd 3R 10
TEfas IAEA 750 T
areafas @i w2 6,000
5
Or (1)
Write short notes on any three of the following:
(a) Performance Budget .
' P. T. O.
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- (b) Responsibility Accounting
(c) Transfer Pricing

(d) Zero Based Budgeting.
frafafaa & & fedl i W i feoei ifg,
(a) ¥ey dee
(b) STEINIS AGIHT

(©) R
(d) ¥ eaRd ST 4

5900
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(swm—w%ﬁra#s?mfa#n&ﬁuffm
T 9SG ST feafad 1)
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ST § AT éﬁ-—rmﬂaaﬁawmmqa;a?

gIT =T |
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given at the end of each question.

Tt gy afrard 81 5AF F 1S5
3% 7 &1 F¥T & STYF &
wmf@ﬁsé‘:

P. T: O.

Scanned with CamScanner



1222

1. (a)

(b)

(a)

(b)

% v(a‘)

FI) W F e ® qed i 6

Wl % AT S WUERT | | 71

Discuss various components of Indian ﬂ“aHCiaf
system and their role in financial intcrmcdiation |

wRdta forfta et & Rl HIEER 5 fryy,
Fifag g frfta werera ¥ I qfim 5 g
faa=w e | . 7:

Discuss difference between bank deposits apg
certificate of deposit. Explain main features of}
certificate of deposit (COD). '

d% I qUT W W FEONT ¥ IR H

AR | 8
Or (31gan) |

Discuss flow of funds accounts. Explain the :
significance of flow of funds accounts. i

IS T WA AR R A

Explain various functions of Indian money market '»
and its role in financial system.

AT q5T AR F fafey sl s g ﬁﬁﬁﬁ

SOt % 3w i @ wwgmew ) 8 |

“Reserve Bank of India (RBI) exercises different
monetary techniques to control the money marke! |
in India.” Discuss. 5
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Wﬁ@ﬂmaﬁﬁuﬁam%fmw
Red a5 o st aoetial @ s aean 3 17
faa?-r\aﬁt‘mu 7

Give an overview of the Indian Debt Market. Why y

is it not very much popular like equity market in
India among retail investors?

Wﬂmmmaﬁﬁqlw

. ﬁéﬁﬁ,mﬁ‘,éﬁaﬁwﬁmﬂﬁa@

(a)

(b)

@

e AHtE =i 78 R 2 8
Or (3rgan)
Briefly discuss the functions of primary market

and explain how primary market and the
secondary market are interlinked.

m@m%ﬁwﬁwﬁ%ﬂqaﬁmam
WERT 5 wafis qor fadtas SNR R TR
HTW T 98 ¢ ; 7

Discuss various stock market reforms since 1991
in Indian capital market.

TRt it e & 1991 g fAl YR AR
qarl &1 fga=d Sy | 8

Banks are important financial institutions in the
financial system.” Discuss their functions.

P. T. O.

Scanned with CamScanner



1222

(b)

(b)

4. (a)

I Al @l = m”ri%rq | 7%
What are the different kinds of life and nOn-Jife)
insurance policies in India? ;,

R o Sfted qun WR-shad @t mﬁrmn%
faf=T SRR <RI & 7 g

1

Or (374a)

Discuss the functions and structure of IRDA, a5 a]
regulator of the Indian insurance sector.

Wﬁm@a&%ﬁmﬁ%mﬁlRDA%
HEl g AT H o= &g [ -

Explain the mutual funds concept. Discuss the
role of mutual funds in capital market
development. | |

REAA T F UHTH! FUHRT | St AR F
Wﬁwﬁmmaﬁ qfter @t faafE
HWT | ~ | 3

3

What do you mean by Non-Banking Financiai_
Companies (NBFC)? Explain their functlons and g
role in the Indian financial system. '

-dfen faxfa wmfaf (NBFC) & & a‘*’ﬂ
awed 47 awdta foie soret o s w A
YRt = AHEAET | 7
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(b) Describe the term ‘Merchant Bankmg and discuss
their post- and pre-issue obligations.

ol T v w ai wifi) e gd-
friea 3 wve-feim ofeel = Rt R
| 8

Or (m)

(a) Write an overview of the fund based and non-fund
based financial services industry in India. -

aa A %3 uf@ qu News e fadia
ﬁm'm-mm@mml Stk T

(b) Discuss the role of Commerical Bankmg in -
Project Financing in India.

mﬁwﬁﬁmmﬁmﬁmﬁnaﬁ
qjﬁa;ramfaéa’-raﬁﬁm_ | '8

' 5. Write short notes on any two of the following:
’ (a)' - Venture Capital Finance |
(b) Factoring Services
(c) Leasing and Hire Purchase
(d) Bank Guérante_e'.
Frafafag & @ fed & W wfa feoft S

(2) m‘i}ﬂ’fﬁ'ﬁ
| .P.T.O.‘
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(b) erefr Fard
(c) U8 W A aul feRtrar-sha
(d) d W | s
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- fewquft _sﬂmwmwaavﬁm%—ﬁﬁ#r@w_"
3 f; ﬁﬁ-—rwﬁaﬂfrwqu@‘eﬁ‘@m
?lTﬁ‘Q'QI

, Attenipt‘All questions.
ot 3 aﬂﬁml
1. | (a) -_State the competenc1es reqmred of HR managerto perform

~ his functlons successfully. =5 5
(b) What is Work Force Dlversxty ? What are the advantages of

diverse work force ? 100

PTO.

\x
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(@) s s fafaua @0 A v 7 At
-aﬁ_azn‘énﬂ% ?

 or/(3THA)

| (@) What is HRM ? Discuss in brief the essential featurss #

]

(b) | What are til.e essentials of soﬁnd HR policies ?
(%) HRM ¥ 2 HRM F e e
w  RRe wf
'('@)W'HRW H Afardad w=m ¥ 7
(@)  Why is HR plaﬁning necessary ? |

(b)

Discuss in brief the significance of proper selectiot &

personnel. Also explain the steps in the selecti®

procedure, “’
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(a?)'HRaﬂ?ﬂﬁ?‘?ﬁ AAIF B T )
(@)ﬂmﬁvﬁ%ﬁﬁ%wﬁﬁmﬁ

[EEEEINCIEC AT ORI o e —
® o =mEn wifw)

Or/(3721a)
‘(aj' Distinguish between Job Description and Job Speéiﬁ-

cation. - » 5

\ )
b Explain the mer.its and demerit—s"\of ex?ernal sources of
recr'qitm.ent.' Why do reputed c;oinpanies prefer campus

-

placement? - | T 10
(%) St fomn o i ﬁﬁ@wﬁ SR T
) i & A o A g @

e AT 1w R ¥ enfara st

qfer wrqd @ s od €7

P.T.O.
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' B inds of welfare activities |
(a)  What are the different kmd's usuall,

undertaken by Iarge sized organization in India. /

(b) Explain the various decisions 1o be taken in dcs‘énlnga 4
suitable training program. Explam the benefits oftra,mng :

. “«from'the organizatibns'p.oint of view. 0
() s H A SR B W F SR w
e S g ? ' ]
(@) s A feE W
_ﬁfmﬁnﬁqﬁm..m%wm;

’ W' WS I g | WRIE % @ a
STl E!flﬁi'all |

Or/(M)

A(a) " Distinguish between base compensation and supplementary |

> / . N : . '
compensation.. - ol : ’ 53

) .What. do you mean by Executive Dévelopment ? What ar¢ |
the dlfferent methods of executlve development 2 ~ 10 |
($) YR Hﬁl{ﬁaﬂtw Wﬁmaﬁrﬁii
(@) sl foohma & o o T ¥ 2 sfreret |
ﬁﬁrﬂ it ﬁlﬁ-‘f-‘—f ﬁfw s ¥ 2 |
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(@) Write anote on physical working cond
Ing conditions whi
5 which affect

the health of workers.
5

(b) ~ Whatis performance appraisal ? Explain MBO as a techni
J a nique

of performance appraisal. :

_ | 10

(%) A FEE el W feord fafer S
FHHA %.,W W YW et © 7

(@)_m e w & 2 e e
aﬁ@ AR % w9 'ﬁl'MBO'ﬁQW‘

(@ Distin‘gui:s'h betv&;een -promo'tion and trénsfer.

evances arise ? How can the

() Why do employees gfi

management redress the grie\{an_ées ? . 10
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e
" Write short notes on any three : (5 markg-cach)é
(@ lJob Evalﬁation |
(5) lnld'uction
() | Em-pllloy'ee Cou‘nseli.ngl :
(?1) Outsou.rt:ing'

‘(e); - Profit Siiariné N _ ,

ﬁwﬁrﬁgﬁaw?ﬂwmwmﬁmﬁmm;

' ' ‘(E) Gﬂa’ Wm ]
| (a) EE

(m mfaﬁ‘u?r ol szf ?Fn

f (E‘) I f%?@alm

430
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=g UF-UF & Wel 8 X gRA i 9¥ ST
A A g
(b) Answer may be written either .in English
or in Hindi; but the same medium should

be used throughout the paper.
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(c)

(d)

(€)

(f)

(b)

Attempt all questions.
el el & I i |
All questions carry equal marks.

afY gl & ofer wwe ¥

Use of simple calculator is allowed. |

H Bepeiex Bl TANT BT Tha
Time-value tables will be provided. ’

W—%WW«HE{%WI

"The profit maximization is not an’
operationally feasible criterion." Do you |
agree ? Give reasons. 8

YA SAfRTHIERYT R ®T § o
Wﬁ%l”wmﬂw%?mwa
FHITTT | | | g
Mr. Vijay is'borrowing 310 lakhs from a|

bgl:lk for renovation of his house. Bank is.
giving him two options. Option one is to
Feturn this money in six equal annual
Installments at rate of 7% p.a. Option two

1s to return this money in equal hall
period of six years at.

installments over a

annual rate of interest of 6.5%p.a. Which
option should he select and why ? n

Scanned with CamScanner



TN

(b)

. aifeq ufewe & 12% #

7% |RAH ST F QY B: qeRw & Rt &

T Pl W ¥ B g o

gﬁg&ﬁﬁlﬁfﬁm%wg:'ﬁﬁwaﬁ
| 39 5T forepeg

T AR 4 ? | g

"OR
aTerT

How is cash flow different from accounting
profit ? Which one is better for capital
budgeting decisions ? Why ? 8
FEmpTeT @9 & Aes vaE Ha g e
ST & ? ol sete FofEl @ faw e A

AT T 7 SR ? |

Mr. Anil is due to receive ¥ 8000 each year

for eight consecutive years. However the
' art third year from now.

receipts would st :
m received,

Find the present value of the su i
if the required rate of return1s 12%.

o < SOOO?WWWHQ‘
:;Bﬁe?ﬁa;jmﬁrmﬁrﬁaﬁﬁmaﬁfigé
ﬁﬁ'lma#asraﬁqﬁ-‘iﬂmm'

.T.O.
3 P
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2.

(a) Explain the Discount Cash Floy

(b)

SR Freiafic Goft =t emragerpar 2t

Techniques to evaluate Capital Budgetin'

the end of first year. Net cash flows

i

| Proposals

WWW@%I iqqlcbﬂaﬂ‘iref*m
aﬁa@m—maﬂm‘raﬁmw

Vikas Ltd. is considering the purchase g

new machine. Two alternative machine
& Y) have been suggested, each havi
initial cost of ¥ 10,00,000 and requir
% 50,000 as additional working capital 2

expected to be as follows : |
e Rifes w2 79w @ ey v RER
w.%lxaﬁrywaﬁﬁtﬁqsﬁ.

mmwwéﬁaﬁaﬂsﬁ%:

4
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Cash Inflows

AHs  SAadars

" Year | Machine X () Machine Y (-?)

g8 | X " (]) Y asfm (%)
1 1,00,000 3,00,000

2 3,00,000 4,00,000

3 4,00,000 5,00,000
% 4 6,00,000 3,00,000

5 4,00,000 2,00,000

The company has target return on: capital
of 10% and on the basis you are required
to compare the profitability of machines and
state which alternative you consider to be
financially preferable. - 10

HUHT 1 TiTha @&d goi @ 10% T AR 4

STETT X ST AL Sl AT Fe< @l o

forepeT @1 g &9 8 SIfeE=g J9a 2
OR
arerdr

Sharda Ltd. is considering two 'mutually
exclusive machines. Both required an
initial outlay of ¥ 2,00,000 each and have

a life of five years. The company's required

S P.T.O.
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rate of return is 10% and pays tax at the
rate of 50%. The projects Will p
depreciated on a stl.‘alght line basis. 13,
profit before depreciation expected to p,
generated by the projects are as follows .

am%rm%gawmqsﬁﬁfwhqn

Year 1 2 3 4 5
a5
Machine | 80,000 |.80,000 | 80,000 | 80,000 | 80,000
1Q) "
i 1 )

Machine 1,20,000 60,000 | 40,000 | 1,00,000 |1,00,000
2() '
st 2 ()

You are required to calculate :
SRl oM ey B |

() The Net Present Value and Profitabilitf’
Index for each machine., ' :

T% [N al"‘
Al T W FEe aime e ofR i

6
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(ii) The Internal Rate of Return for each
machine.

g AT B R aRmee & oriaReE g7

Which machine should be'accepted and why ?
15

@%ﬂmﬁﬁzﬁrﬁﬁwmaﬁqeﬁaﬁf?

(a) Explain and illustrate "Arbitrage Process"
of MM theory of capital structure. 8

Tﬁ—m%MMiﬁmﬁ“aﬂféﬁm
P AT Ho@l

(b) The following figures are taken from the
‘current balance sheet of a company :

FHUAT & AL gaT 9 § il eties e
MMy
" Equity share capital ¥ 40,00,000

gRerdt e T
12% Preference shares ks 4, 00 000
12% <AfeH= Sﬁ?T{
10% Debentures - ¥6,00,000

10% oy fEa=rR
7 P.T.Q.
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The equity shares of company are qUoteq
at 110 and the company is expecteq y, -
declare a dividend of ¥ 15 per share. Ry, |
of growth of dividend is 8% which isi
expected to be maintained. Assuming tay
rate @ 40%.
FI B RIS AT P FET 1107 D oy
amem B % Hae 15 ¥ Of 9% ameier Sifg
BN | ATHIST B gha X 8% & S 6 =i &
g4r W BT & TN 40% HF HT T |
(1) Calculate Weighted Average Cost of |

Capital. (WACC)

T @ 9iRa of\a @rT (WACC) 37

Wﬁ?h?«r?:_ PIfSTT | ,
(ii) The company wants to raise additional

term loan of ¥ 5,00,000 at 10%. |

Calculate the revised WACC assuming

the market price of equity share has
gone down to ¥ 105. 73

HIAT 10% gv 5,00,000 ¥ orfafed
SUECE I oS HTAT Tgredt T TE

ANRT 5 sfed e oy S
PR 105 7 & o 3, R

8

|
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OR
ITerar

(a) A company has an EBIT of ¥ 3,00,000 and
overall cost of capital 12.5%. The company
has debt 0of ¥ 5,00,000 borrowed @ 8%. Find

- the value of the company using NOI
approach. Also show how change in debt

by ¥ 3,00,000 have impact on the cost of
- equity of the company. 8

w FT H1 EBIT 3,00,000 % 3, of qSir &l
THA A 12.5% B HTH 9 5,00,000 3
HOT T S 8% @t & WX fw@r A ¥ 1 NOI
SURTH T SEART X BI BN T S BT |
e & gefdie. St 5 =1 & 3,00,000 T
oftads Sy 9% F9E @ SRRE aFh W
AT LT B |

(b) The following particulars are related to

Seema Ltd. and Leena Ltd :
RrefeRg fawer dmn s S EESIRIASIRES]
q gt B -

9 P.T.O.
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Satticulors Seema Ltd. | Leena Lz~
() ()

Rraot @ fafes | s Repe,

Output and Sales 80,000 1,00,000

(Units)

S ok ReRr (IFE)

Selling Price per unit (%) 10 8

ofy afre R @ ()

Variable costs per unit %) | 4 3

Rt e S g (1) | |

Fixed cost (%) 1 2,40,000 2,50,000

=R @ @)

Interest Burden on Debt )| 1,20,2000 50,000

FT T AT H AR ) |

On the basis of data given above, compute:

SR R T sy -

- (i) Operating leVerage,

(ii) Financial leverage and

i sy

¥

(iii) Combineq leverage,

ﬁ%aﬁﬂﬁwaﬁmﬁml

10
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4. (a) Explain briefly the main determinants of

the dividend policy of the firm. 7

qﬁaﬁwa%%g@qﬁfmzﬁrﬁmﬁ
AT HISTY |

(b) Determine the Market value of equity

shares of the company from the following |
information :

Earnings of the Company % 10,00,000
Dividend Paid F Z 6,00,000
SICIMEES]

Number of Shares . - ¥2,00,000
Outstanding | P,
e AT W wE

Price Earning Ratio . 8

Fre o ST

Rate of Return on 1 5%

Investment

Rrarer qx gferee @l &
1 | P.T.O.
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Are you satisfied with the current dividengq
policy of the, firm ? If not, what should .
the optimum dividend payout ratio ? Uge
Walter's model. 8
T ST WH I =N ATHIST HIT A ¥ )
gfy & @ F=aH STEREN SIIUN T By
=ifee ? gieed Hisd B FART HifeTT |
OR
SHECAT

(a) Explaih Gordon's Model of Dividend
Decision . Explain its assumptions.
. : 7
I T HIA H S ArST @ e
PN | g0 AREET 95 e 6|
(b) Heena Ltd. has a capital of ¥10,00,000 in
equity shares of ¥ 100 each. The shares
are currently quote at par. The company
proposes to declare a dividend of ¥ 10 per
share at the end of the current financial
year. The capitalization rate for the risk

| class to which the company belongs is 12%.

What will be the market price of the share
at the end of the year, if " :

12.
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&1 Riftee 3 9w 100 2 o/ s QT &
10,00,000 ¥ =1 QST B | SR 7 a<iHe  god
T T B | HO A facha ad @ i
w10 ¥ ufY AT @Y @ W e
Ireal B | ST arel aorT & forg, R aara
F Pl B, ToIRTOT & 12% T
g T F IR W ISR T T ST AR
(i) a dividend is not declared,

AT B o S H TS,
(ii) a dividend is declared.

rerer MfYe @Y R T v
(iii) Assuming that the compariy, pays the

dividend and has net profits of
Z 10,00,000 and makes new investment
of ¥ 20,00,000 during the period, how
many new shares must be issued ? Use
" the MM model. 8
75 T @ 5 ET anie &0 T IR
SR Frae @ 10,00,000 T 8, T6 98
=g em@fy #§ 20,00,000 X a1 A
e T & fraw g AT S fopa ST
aifec ? MM Hisd &1 FET BT
13 - P.T.O.
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5. Compute the working r equirements from the
following details :
Rrfaiad qwdiet o e TEdl B Ty,
ST

Budgeted Sales 40,000 units per am
Sofeg R gie dftad 40,000 7
Raw Material ) o
Cost per unit | '

Fed AT Hl AN

Direct Labour per unit 7

Overhead per unit | X 3

SaRerg wfy gfe

~ Total Cost per unit < 19

H/A AFTT i giee

Profit per unit T1

o oy e

Selling price | Z20

per unit

famaﬁqﬁsr%gﬁ—g

14
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additional informations :

sfaReE gEd

(i)

(i1)

(i)

(iv)

“cycle.

- Debtors are allowed 7 weeks credit.
AR N 7 S B Bise Ry wmyr T
Suppliers provide 4 weeks credit.
qERRl B 4 TAE w BT Rar @ ¥y

Raw material will be carried in stock for

4 weeks and finished goods for 2 weeks.
e T 4 E F R AR R A
2 g<hE & i Wi H o S S

Factory processing will take dn an average

4 weeks. |
el TepHOT A SlEaT 4 T<e Sund
Assume labour and overhead expenses to

accrue evenly throughout the production
15

qmaﬁﬁqﬁﬁmaﬂ‘{eqﬁwq@'am
S o & A T w9 8

15 ‘P.T.O.
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OR
SHETT
Write short notes on the following -

5X3=13
Frefeiaa X dferar fewaferr fafa -

(a) Cash Budget
| (b). Recorder Point for Inventory
(c) Credit Policy

| Bfee ARy

16 ‘ 6500
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